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BIOLOGY SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question ‘paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencii.

Q.1  Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.

(i)

(i)

(i)

(iv)

(v)

(vi)

{vii)

(viii)

(x)

(x)

(xi)

(xii)

Cell walls are found in these organisms except for:
A Plants B. Animals C. Bacteria D. Fungi
Similar cells organized into groups and performing same function are known as:

A Organelle B, Tissue C. Organ D. Organ system
Study of Insects is called:

A Entomology B. Anatomy C. Pharmacology D. Taxonomy
Who proposed Induced fit model of enzyme?

A Daniel Kosh Land B. Emil Fisher

C. Karl Lohmann D. Calvin

Which of the following is NOT a type of leukocytes?

A Lymphocytes B. Eosinophil C. Monocytes D. Thrombocytes
Through which blood vessel the oxygenated blood leaves the human heart?

A Aorta B. Renal artery

C. Inferior vena cava D. Pulmonary trunk

The chloroplast function is:

A ATP synthesis B. Protein synthesis

C. Photosynthesis D. DNA replication

Viruses are assigned to the Kingdom:;

A Monera B. Protista C. Fungi D. None of these
The average human heart beats time per minute.

A 70 B. 80 C. 95 D. 120

Which of the following stage of cell division is very different for animals and plant cells?
A Metaphase B. Anaphase C. Telophase D. Cytokinensis
The disease of Goiter may be due to:

A Mineral deficiency B. Protein-energy malinutrition

C. Over intake of nutrients D. Starvation

Which of the following is a water soluble vitamin?

A Vitamin A B. Vitamin D C. Vitamin C D. Vitamin K

For Examiner’s use only:
Total Marks: 12
Marks Obtained: l
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26
BIOLOGY SSC-|

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
heatly and legibly.

SECTION - B (Marks 33)

Q.2 Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. {11 x 3 = 33)
0 Define activation energy. How enzymes lower their activation energy?
(i) Define Transpiration. How does it occur in plants and how much amount of water is lost through this
process?

(iii) What is meant by cardiac cycle? Differentiate between Diastole and Systole?
(iv) Explain protein-Energy Malnutrition. What are its side effecis?
v) Define Photosystem. Name main and accessory photosynthetic pigments.
(vi) What are major biological issues of today?
vii) How quantitative observations are more accurate than qualitative observation? Give examples.
(viiiy  Define biodiversity. Upon what factors biodiversity depends?
{ix) Differentiate between Prokaryotic and Eukaryotic cells.
{x) Why weits appear after the mosquito leaves?
(xi) Draw a comparison of aerobic and anaerobic respiration.
{xii) Interpret that ATP is the chief energy currency of all cells.
{xii)  Write down the scientific name of the following organisms.
(a) Mustard plant {b) Frog (c) Human being
(xiv)  What are characteristics of good hypothesis?
(xv) Describe sources and deficiency symptoms of vitamin D.

SECTION — C (Marks 20

Note: Attempt any TWO questions. All questions carry equal marks. {2 x10 = 20)
Q.3 a Explain the structure and function of heart with the help of diagram. {08)
b. What are platelets and what is their average life span? . (02)
Q4 a Why nucleus is called power house (brain) of celi? Explain its structure. (05)
b. What is endoplasmic reticulum? (03)
b. What is the function of mitochondria? (02)
Q5 a. Contrast mitosis and meiosis, emphasizing the events that leads different outcomes? (06)
b. Explain lock and key model and Induced fit model of enzymes action. (02+02)
— 158 1610 -~
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Roll No. Answer Sheet No.
Sig. of Candidate. Sig. of Invigilator.
CHEMISTRY SSC-I

SECTION - A (Marks 12

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencll.

Q. 1. Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i)

(i)

(iii)

(v}

(vi)

(vif)

(Vi)

(ix)

Y

(xi)

(xi)

What is the mass of Carbon present in 44 g of Carbondioxide?

A 12g B. 6g C. 44 g D. 24 ¢
Rutherford used l particles in his experiment.

A He? B. He" C. He atoms D. He™
Which of the following elements belongs to VIII A group?

A Na B. Mg C. Ne D. Br
Which of the following molecules obey duplet rule?

A 0, B. H, C. E, D. N,

A liquid boils when its vapour pressure becomes equal to:

A 760 mm of Hg B. 1 Pascal C. 0.1 atm D. 760 atm
How many atoms are there in 28 g of N, gas?

A 1 B. 6.022x10° C. 2 D. 12.044x10%

If one mole of ' Na ' contains * x” atoms of Sodium, what is the number of atoms contained in 46 g of
Sodium?

A x B. 2 C. 2x D. 1.5x

In which of the following changes, Nitrogen (N) atom is reduced?

A N, toNO B. N, to NH; C. N, to HNO, D. N, toNO,

Which of the following does not involve electroiytic process?
A Reduction of metal oxide by a reducing agent

B. Manufacture of Na from NaCl

C Electroplating of Steel

D. Refining of Copper

Mention the amphoteric oxide out of given oxides.

A MgO B. Na,O C. SO, D. ALO,
Chloride ion can not oxidize ion.

A lodide B. Fluoride C. Astatine D. Bromide
How many moles of molecules are there in 16 g of Oxygen gas?

A 1 B. 0.1 C. 0.5 D. 2

For Examiner’s use only:

Total Marks: 12

Marks Obtained:

— 188 1608 —
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Time allowed: 2:40 Hours

CHEMISTRY SSC-|

18

Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11x3

(i)
(i)
(i)

Note:
Q3

o ®

Attempt any TWO guestions. All questions carty equal marks.

What is difference between atomic number and atomic mass? Explain with examples.
How ions and free radicals are different? Give examples in each case.
An atom is electrically neutral. Why?

Define lonization Energy. How does it change in a period and group?
Draw electron dot and cross models for water and methane.

What is evaporation? How does it cause cooling?

State Charles's law and give its mathematical expression.

What is Molarity? Give its formula.

Write Chemical reactions that occur in Neison's Cell.

Define reduction and give examples.

What is electropositive character? Explain it.

Give importance of Ca.

What is empirical formula? Give examples.

What are isotopes? Write names of isotopes of Carbon.

What is Shielding Effect? Write its trends in group and period.

SECTION - 2

Write briefly about various uses of Isotopes.
Write briefly about three branches of Chemistry.

A spoon of table salt (NaC! ) contains 12.5 gof NaCl .Calculate Number of moles of NaCl in it.

What is importance of intermolecular forces in our every day life?
Write briefly about various types of solids. *
Compare solutions and suspensions.

Give various uses of Electrolytic cells
Write two methods of prevention of corrosion.

A solution of NaOH has concentration 1.2 M. Calculate the mass of NaOH in g/dm’ in the solution.

—— 188 1608 —
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Roll No. Answer Sheet No.

Sig. of Candidate. Sig. of Invigilator.

...........................................................................................................................................................................

COMPUTER SCIENCE SSC-|

SECTION — ks 12

Time aliowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not aliowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

i)

(viii)

(ix)

(x)

(x7)

(xii)

A translator is a:

A Low Level Language B. System Software

10 Translating Machine D. Application Software

Which of the following is called the first generation computer?

A UNIVAC B. Mark | 103 Pentium | D.
The brain of an electronic computer is its:

A cu ‘ B. ALY C. ROM D.
Computers equipped with storage units are also called:

A input Units B. Output Units  C. Memory Units D.
Which of the following is an output device?

A Keyboard B. Mouse C. Printer D.
The device used to produce Soft Copy is:

A Printer B. CD-Writer C. Plotter D.
A group of four bits is called:

A Byte B, Kilobyte C. Word D.
A hard disk is also called a;

A Winchester disk B, Compact disk C. System disk D.
Compiter is a type of:

A Education Software B. System Software
C. Productivity Software D. Business Software
Which of the following is a Single User Operating System?

A Windows B. UNIX C. LINUX D.
A text box is a type of:

A Command box B. Menu box C. List box D.
Top most bar on MS Word Window is called:

A Status bar B. Menu bar C. Title bar D.

For Examiner’s use only:

Total Marks:
Marks Obtained:

—— 1885 1611 —
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Time éllbwed: 2:40 Hours

COMPUTER SCIENCE SSC-

3

2§

Total Marks Sections Band C: 43

NOTE:- - Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
~ provided answer book. Use supplementary answer sheet L.e. Sheet-B if required. Write your answers
neatly and legibly.

Q.2  Answer any NINE parts. The answer to each part should not exceed 3 to 4 lines.

(xii)

(xii)

Note:

Q.3 a

SECTION - 27

Write any three uses of Super Computer?
What are the characteristics of Second generation's computer?
Describe the functions of CU.

What are the banking applications of computer?

What are the functions of Input and Output devices in a computer?

What are peripheral devices? Name any TWO of them.
What are the uses of Trackball?

How data can be written or retrieved from a floppy?
How many types of computer files are there? Explain.
Differentiate between SIMMS an DIMMS.

Describe three common mouse actions.

What is Word processing?

What is the function of Scroll bars in window? Name its types.

SECTION-C 16

Attempt any TWO questions. All questions carry equal marks.

What is Internet? List three advantages of intemet.

Explain the working of dot-matrix printer.

Differenfiate between RAM and ROM. -

Wirite briefly about the following:
i) My Computer
i) Recycle Bin

(9x3=27)

(2 x 8 = 16)

(04)
(04)
(04)
(04)

Q.5 Describe the functions of ports in a cornputer. How many types of ports are generally present in a ccmputer
system? Write in detail

188 1611 ~—
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Roll No. Answer Sheet No. ‘

Sig. of Candidate. Sig. of Invigilator.

...........................................................................................................................................................................

ENGLISH COMPULSORY SSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes (Revised Syllabus)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the guestion paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

{i) The makes us stay alert in the wake of foreign invasion.
A. Love of country B. Spirit of patriotism
C. Bravery and valour D. Superpower
(i) Media has become a mouthpiece of the:
A Rich people B. Hungry people
C. Downtrodden people D. Powerful people
(iii) Drug addiction is caused by factors.
A. Political B. Spiritual
C Environmental D. Moral
{iv) Use of technology is another cause of pollution.
A Air B. Water C. Land D. Noise
v Which of the following is a phrase?
A It is of no use B. He is well
C. In an unwise manner D. Over her hangs the great dark bell
(vi) | heard a noise from behind the room.
A Came B. Coming C. Come D. Will come
(vii) You will hurt yourself. The underiined word is a/an:
A Possessive pronoun B: Emphatic pronoun
C. Indefinite pronoun D. Reflexive pronoun
(viii)  She faced every calamity of life with patience. The underlined word is a/an noun.
A Collective B. Concrete C. Abstract D. Countable
(ix) Work hard you should fail.
A. Unless B. Until C. Lest D. Less
(x) Painting is a good fun. The underlined word is a/an:
A Infinitive B. Gerund C. Participle D. Adverb
(xi) The teacher was late. The underlined word is a/an verb.
A. Linking B. Action C. Helping D. Modal

(xii) The sunflowers nodded in the wind. In this sentence we can find an example of:
A Simile B. Personification C. Metaphor D. Imagery

(xii) At gallery level the design becomes flamboyant with representation of flowers. What is the synonym of the
underlined word?

A remarkable B. inflammable C. colourfui D. skitful

(xiv)  The opposite of ‘pensive’ is:
A Thoughtful B. Thoughtless  C. Painful D. Merciful

(xv)  Choose the correct spelling.
A. Convalutions B. Convolushuns C. Convoleutions D. Convolutions

For Examiner’s use only:

Total Marks: 15 ,

Marks Obtained:

— 188 1601 — -
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Time allowed: 2:40 Hours

ENGLISH COMPULSORY SSC-I
Revised Syllabus

Total Marks Sections B and C: 60

NOTE: Sections B and C comprise Pages 1-2. Answer all the questions from Sections ‘B’ and ‘C’' on the
separately provided answer book. Use supplementary answer gsheet i.e. Sheet-B If required. Write
your answers neatiy and legibly. ‘

SECTION -

Q.2 Answer any SiX of the following parts in about 30 to 40 words each. Each part carries 3 marks.

Q.3 a.

(i

Why did the pagan Arabs send a delegation to the Holy Prophet's (w) uncle?
As a citizen of Pakistan, what are your duties towards your country?

Which incident in the story tells about the generosity of Hazrat Asma (R.A)?
How much confidence did the Quaid-e-Azam have in his nation?

How does the interior of the Blue Mosque look?

Why did the nurse disagree with the doctor’s point of view?

What is the role of counselling in preventing drug addiction?

How do you get an impression that Hellen Keller was a great admirer of Nature?

Paraphrase any ONE of the following stanzas:

My little horse must think it queer
To stop without a farmhouse near
Between the woods and frozen lake
The darkest evening of the year.

Continuous as the stars that shine
And twinkle on the milky way,

They stretched in never-ending line
Along the margin of a bay:

Read the following stanza carefuily and answer the questions given at the end:

The waves beside them danced, but they
Out-did the sparkling waves in glee;

A poet could not but be gay

in such a jocund company!

| gazed — and gazed — but little thought
What wealth the show to me had brought:
Questions:

() How does the poet feel in the company of daffodils?
(1) What ‘wealth’ do memories of the scene give to the poet?
(iii) Write down the rhyming words in the stanza.

Change the Voice of any FOUR of the following:

(i) He had not kilied a snake before.

(ii) Where was the lion drinking water?

(i) - The peon did not ring the bell.

(fv) When will you vacate the house?

v) Have bazaars been decorated by them?
(vi) Do your own work.

(vii) Girls do not sing songs.

Page 1 of 2 (Eng. Com, New)
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b. Provide correct form of Verb of any FIVE of the following sentences:

(i) He (leave) twenty minutes ago.

(ii) I (wait) for you at the usual time.
(iii)
(iv)
v)

(vi)
{vii)

(vii)

The sun (not rise) before we were ready to leave.
If you like | (help) you to ride my bike.

The baby (cry) for milk now.

I (not see) you since Monday.

They {complete) their work by tomorrow.

It (be) raining yesterday.

c. Punctuate and capitalize the following para / line(s):

son of my brother go thy way none will dare touch thee i shall never forsake thee

SECTION - C (Marks 21)

Write a letter to your mother about the test you have just taken.
-OR-
Write a letter to your friend thanking him/her for hospitality during

your visit to his/her house.

Write a paragraph of about 60 to 70 words on “A Horrible Dream”

Translate any EIGHT of the following sentences into English:

s lnbenl e 6
IAKE Sy (W)

e GUdUllf (Vi)
(e Sufredy (i)
Sebst bl e/ U ()
-Kﬂ{;ﬁn—:]}@)f (i)

(i)

-OR-
Wirite a dialogue between a brother and a sister concerning time.
-OR-

Write a dialogue between two Friends about the effects of drugs.
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Answer Sheet No.

Sig. of Candidate. Sig. of Invigilator.

............................
-----------------------------------------------------------------------------------------------------------------------------------------------

ENGLISH COMPULSORY SSC-lI
SECTION - A {Marks 15) |
Time allowed: 20 Minutes (Oid Syllabus)

NOTE: Section-A is compuisory. All parts of this section are to be answered on the question paper itself. It
should be compieted in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

i Hazrat Muhammad (,!,ﬂlb*ﬂ) was the greatest reformer of:

A A city B. A country C. The world D. A nation
(ii) Hazrat Khalid Bin Waleed (R.A) was a great of Islam.

A. warrior B. leader C.  reformer D. poet
{iii) A Jewish woman was punished by God for her cat to death.

A punishing B. starving C. catching D. beating
(iv) K2 is the peak in Pakistan.

A high B. very high C. higher D. highest
(v) The rural areas consist of small

A countries B. cities C. towns D. villages
(vi) Prince Tai was to succeed his as king.

A friend B. son C. great master D. father
(vi)  The cleaning of houses on New Year's Day is considered:

A bad omen B. a sign of good luck

C. good for health D. dull
(viii)  The park had:

A a guard B. a fence

C. equipment for exercise D. mango trees
(ix) The famous Olympic Games are held every year.

A fourth B. fifth C. sixth D. seventh
(x) Abou made a request to the angel to write his name in the list of those who:

A love the lord B. love the people C. work hard D. play the games
(xi) The rain water seeps the soil.

A through B. of C. with D. into
(xii) Eggsarelaidin_____ sided compartment.

A. five B. six C. seven D. eight
(xii) Forabouta __ years the Muslims were the torchbearers of knowledge.

A, million B. thousand C. five D. ten
{xiv} Where were the daffodils fluttering and dancing? .

A beside the lake B. beneath the trees

C. on the mountain D. down the hill

(xv) Use the zebra crossing while crossing the:
A ines B. marks C. lights D. rules

For Examiner's use only:

Total Marks: 15

Marks Obtained:
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ENGLISH COMPULSORY SSC-I
(Old Syllabus)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer all the questions from Sections ‘B’ and ‘C’' on the separately provided answer book.
Use supplementary answer sheet i.e. Sheet-B if required. Write your answers neatly and legibly.

SECTION - B (Marks 39
Q.2  Answer any SIX of the following parts in about 30 to 40 words each. Each part carries 3 marks.

(6x3=18)
{ What condition was imposed on the prisoners of the battle of Badr?
(i) What title was given to Hazrat Khalid Bin Waleed (R.A) by Hazrat Muhammad (#%1) and why?
(i) Write a few lines on “Kindness is a Great Virtue”.
(iv) How did Pan Ku remark when the prince had explained him all about his new experience in the forest?
(v) Who were the earliest people to introduce sports and what games were used for utilitarian purpose in the
past? (refer to the lesson “Sports and Games")
{vi) In what fields have the Muslim scholars made great contributions?
{vil) What is the importance of the traffic lights?
(viii)  Why should we clean our teeth after meals instead of before meals?
Q.3 A Paraphrase any ONE of the following stanzas: {03)
(i) The day is past, the sun is set, (i) She was taught deceit to shun;
And the white stars are in the sky; And the moment she refiected,
While the long grass with dew is wet, Told her mother what was done;
And through the air the bats now fiy. Who commended her behaviour,
Loved her better, and forgave her.
B. Read the following stanza carefully and answer the questions given at the end: {06)
And with a look made of all sweet accord,
Answer'd, ‘The names of those who love the Lord,’
‘And is mine one?’ said Abou. ‘Nay, not so,’ Replied the angel.
Questions:
i What did Abou ask the angel?
(i) Which poem have these lines been taken from?
(i) What is the significance of the stanza?
Q.4 Change the Voice of any FOUR of the following: (04)
(i The mason is building the wall. (i) Who did this?
(iii) They use video for teaching the students. {iv) Someone has picked my pocket.
(v) The manager will give you a ticket. {vi) By whom was this jug broken?
(il Let the sum be solved.
Q.5 Useany FOUR of the following Phrasal Verbs in sentences: (04)
(i) Come off (ii) Make up i) Give away () See off
(V) Fire at (vi) Belong to (vii) Abstain from
Q.6 Punctuate and capitalize the following para / line(s): (04)

islam is one of the largest religions with estimated 1300 million belivers it was founded in the 7th century by

prophet muhammad (X&)
SECTION - C {Marks 21

Q.7  Write a letter to your friend condoling the death of his/her mother. (08)
-OR-
Write a letter to your friend requesting him/her to lend you some books.

Q.8  Write a paragraph of about 50 to 70 words on “My Ambition” with the help of the following word bank: (08)
Progress and prosperity — human ambitions — to compete for a superior post — to serve country

Q.9 Translate any FIVE of the following sentences into English: (05)
Lol asmigts i) BN R ()
WP U KNl nes (V) o Pt i)
- Z_/-.?«T),od_;!?.c"..b'/ru Sofe (Vi) Bl sy Mne b L (v}

BV A Ul T (i)
-OR-
Write a dialogue between a tailor and a customer.
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Roll No. Answer Sheet No. q

Sig. of Candidate. Sig. of Invigilator.

...........................................................................................................................................................................

ISLAMIYAT COMPULSORY SSC-
SECTION — A (Marks 15)

Time alilowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct optioni.e. A/ B/ C / D. Each part carries one mark.

(i What does "5 " mean?

A Sky B. Root C. Branches D. Back
(i) What does "€ " mean?

A Whistles B. Clapping C. Voice D. Battle
(iii) According to Sura Anfaal, the share of Booty is for Allah and His Rasool .

A Fourth B. Fifth C. Tenth D. Twentieth
(v)  The meaning of " 3" is:

A Heart B. Hand C. Abdomen D. Mouth
(v) The meaning of " u:;,Jf " is:

A Those who accepted Islam B. Alm-givers

C. Those who forbid D. Followers of the Holy Quran
(vi) Which Sahabi is mentioned with his name in Sura Ahzab?

A Hazrat Abu Bakar (R.A) B. Hazrat Salman Farsi (R.A)

C. Hazrat Zaid Bin Haris (R.A) D. Hazrat Zaid Bin Sabit (R.A)
(vii) In which Sura, the orders of Veil are given to the Muslim ladies?

A Sura Bagara B. Sura Anfaal

C. Sura Ahzab D. Sura Mumtahina
(viii)  The subject of Quran is:

A Human B. Jin C. Universe D. Disbelievers
(ix} The most dominant trait of the Almighty Allah is:

A Mercy B. To sustain C. To heip D. To remember
(x) According to Hadith, there are events of happiness for the one who observers fast,

A One B. Four C. Two D, Unlimited
(xi) One can get virtues on the recitation of single letter of the Holy Quran.

A One B. Two C Ten D. Seventy
(xii) The meaning of Knowledge is:

A To know B. To teach C. Revelation D. Book
(xii)y  What does " ¢is, @ " mean in distribution of Zakat?

A Captives B. Debtor C. Travellers D. The Poor
(xiv) Completeit ........ 23

A ciltlas B. P Iy (44 C. iz D. ol@dI5kd
(xv)  Which Prophet was called "ull .«" in the Holy Quran?

A Hazrat Aadam (A.S) B. Hazrat Yagoob (A.S)

C. Hazrat Ayyub (A.S) D. Hazrat Yousaf (A.S)

For Examiner’s use only:

Total Marks: 15

Marks Obtained:
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Roll No.

Sig. of Candidate:

Answer Sheet No.

Sig. of Invigilator: '
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ISLAMIYAT COMPULSORY SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer all the questions of Section ‘B’ and any two questions from Sectlon ‘C’ on the separately
provided answer book. Use supplementary answer sheet l.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 38)

Q.2 a Translate any TWO of the following Quranic Verses: (2x4=8)

:z?u,a;...a"‘\’«"a\,u\,s ‘53 45}3-332.15\\_,1.:.19\\’ ’\ ”N\L@SB (i)
,_Q;i;@v;;t&&\;bo;w%\’ﬁﬂ,

Py Yooe L P, .. . .

3 ‘5«’-'33’ ‘GMJ&S Y \L\)J:—)L\\}.h\,}b 9\).:-'3\0):._45....3\ \;L..!, (ii)

:: T3 stlam ,ﬁ:b‘u
i G B3 B 1305 08 ,.u»wuﬁ-s‘« HRIESREARIAUIFM (iii)

55 i S
b. In the Quranic Verses and their translation given below write in detail the meanings
of any FOUR underlined words: (4x2=8)

$ LR A ?';:’-9-’-1»’ K e f‘as-:' ‘z’
B ,A.: ;_rf-_g.x;éx:.g!am\,_,sﬂ 3\;_5,':&94...»,..,‘3\;\\" |G P! )
= ObAANE ait u\ 3t st 3 555, Cadd 3\_,.-\.....:....9 32 5UE Y3 03055 a2 15

JTranslation:

O believers! When you are confronted by a force {of infidels), hold firm and call Allah in
remembrance much so that you be successful. And obey Allah and His Prophet and do not fall

into disputes lest you lose heart and your strength departs from vou. And be patient (and
steadfast). Verily Allah is with those who remain patient (and steadfast).

P Y mt,‘,s, m&& ,,L;\ p,W\;@ivusax\,bs, (i)
Translation:

And do not yield to the disbelievers and _hypocrites, and do not care for their annoying
behaviour. And put your trust in Allah, and Allah is enough as Trustee.

c. Write short answers to any SIX of the following questions: (6x2=12)
{i) What qualities of believers have been described in Sura Anfaal?
{ii) What was the reaction of Satan on the day of Badr when he saw the angles that came to help
the Muslims?

(iii) What has Allah remarked about the prisoners of war in Sura Anfaal?
(iv) What status of His Messenger ,## has Allah described?

(v) How do the disbelievers behave towards the believers after gaining supremacy over them?
{vi) What type of people are called the best in Hadith?
(vii) Write the translation of any one Aayat regarding Seal of Prophethood.

Q3 Translate and explain any TWO of the given Ahadlth and describe how they are
related to our practical iife: . (2x 5 =10)
»

G e g i cis Lo i ()

Gl Ll TGS Sasdh 2 \ul (i)
4 el 5535 o GiEly 15 0l o2l (i
SECTION ~ C {Marks 22)
Note: Attempt any TWO questions. Ail questions carry equai marks. (2x 11 =22)
Q.4  Write a note on the following topics:
a. Finality of Prophethood
b. Sunnah Steps of Wuzu

Q.5  Wirite in detail on preservation of Holy Quran.
Q.6 Whatis Jihad? Describe its types in detail.

—— 185 1605 —~om
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Roll No. Answer Sheet No,
Sig. of Candidate. Sig. of Invigilator,
MATHEMATICS SSC-

Time allowed: 20 Minutes

SECTION - A (Marks 15)

(Science Group)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not ailowed. Do not use lead pencil.

Q.1 Circie the correct option i.e. A/ B/ C /D. Each part carries one mark.

(i)

(i)

(i)

(iv)

(v

(vi)

(vii)

(viii)

(ix)
(x)
(x)
(xii)
(il
(xiv)

(xv)

2 0
\/— is calted matrix.
0 2
A Zero B. Unit C. Scalar D. Singular
2 1
Order of transpose of { 0 1 |is:
3 2

A 3-by-2 B. 2-by-3 C. 1-by-3 D. 3-by-1
Imaginary part of —i(3i + 2)is:

A -2 B. 2 C. 3 D. -3
Every real number is;

A A positive integer B. A rational number

C. A negative integer D. A complex number

A non-terminating, non-recurring decimal represents:

A A natural number B. A rational number

C. An irrational number D. A prime number

The relation y = log, x implies:

A x' =z B. 2 =x C. =y B. yio=x
The degree of polynomial x?y? +3xy + )’ is:
A 2 B. 3 C. 4 D. 1

2 _ 32

is equal to:

a+
A (a —b)* B. (a+bY C. (a+b) D. (a--b)
Find m so that x* + 4x +mis a complete square:
A 8 B. -8 C. 4 D. 16
HCFof x—2and x* +x—6is:
A ?+x-6 B. x+3 - C. x-2 D. x+2
Two or more than two points lie on the same straight line are called points.
A Equal B. Collinear C. Non Collinear D. Congruent
If two sides of a quadrilateral are congruent and parallel, it is a:
A Rectangle B. Square C. Parallelogram D. Rhombus
Two triangles are similar if their corresponding sides are:
A Equal B. Congruent C. Proportional  D. Opposite
If a,b,c are the sides of a triangle and ¢? =4’ + b’ then itis a triangle.
A Acute B. Obtuse cC. Scalene D. Right
If two medians of a triangle are congruent, then the triangle will be:
A Isosceies B. Equilateral C. Rightangied D. Acute angled

For Examiner’'s use only:

Total Marks: 15

Marks Obtained:
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Rolt No. Answer Sheet No.

Sig. of Candidate: Sig. of Invigilator:
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243 ") wJ” L'/:; <l :ﬁ‘j’ ¢ — mg};} I
< Svedd y=log,x )

yi=x ) x*=y " z0 =x . =z _J
- ,.m;b’g?;/ff Ly 43+ ¥t (i)

1 ) 4 L 3 —— 2
a’ -b’
. T h = (viii)

(a-b) w (a+b) & (@a+byY o (a—by  __i
Kol S P rhxamd LT

16 - 4 & -2 L 8 .
e Al P x-6ax-204  (x)

x+2 - x=2 J x+3 — 2+x—6
- bbl.ﬂﬁl uﬁ’tunﬁ l;{b‘gj"ugﬁ blnslic nln (xi)

S - BAL BE Lo A Lk
e I fet e el Al (xi)

04 - Lg% g - S
gl Ekote SEL Uty (xii

iy -3 N L J‘l}‘ —— VTS|
' -Jn &l = a® + b2 S UEE EsIuE S et a,bye (xiv)

46 -3 Lusn iy g =25 e pe i
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2,0
MATHEMATICS SSC-I
(Science Group)

Time allowed: 2:40 Hours Total Marks Sections Band C: 60

NOTE:

Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary anawer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Graph paper and log table will be supplied on demand.

SECTION — B (Marks 36)

Q.2  Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)
. 2 4 I b 7 10¢
(i) if2 +3 = , Find gand 5.
-3 a 8 -4 18 1
3 -1
(ii) lf B= ,Find BB™".
2 -2
(iit) The third angle of an isosceles triangle is 16° tess than the sum of the two equal angles. Find the three
angles of the triangle.
1 L 1
23 x (27) x(60)?
(v)  Simplty =< (27)" x(60) ,
(180)2 x(4)* x (9)*
(v) Solve the following equations for real xand y.
2-3(x+i)=4+i
1
Vi Evaluate log, —
(vi) g2 128
(viiy  Use log table to find the value of 3/2.709 x ¥1.239
(vii)  Reduce the following rational expression to the lowest form:
64x° —64x
(8x* +8)(2x+2)
(ix)  Factorize 8x® — ——;
27y
(x) if xm2+\/§find the value of x——l-.
X
(xi)  Factorize (x+1)(x+2)(x+3)(x+6)-3x*
(xii)  Factorize the cubic polynomial by factor theorem x° —6x +3x +10
(xii)  If x—1isa factor of x* — Kx* +11x—6 then find the value of K .
(xiv)  Let p(x)=10(x* -9)(x* ~3x+2)and g(x)=10x(x+3)(x~1) . i the H.C.F of p(x),g(x)is
10(x+3)x~1), find the L.C.M.
2 2
(xv) Find the square root by division method %m&+ 27 _1_0_y+ _y_z_
y ¥y X X
2 —-—
(xvi)  Simplify this (x+ 22)(x +3) + (x+ 2)(22x 32) as a rational expression.
x°-9 (x—4)(x"-x-6)
(xvil)  Sclve the given equation =l— ! s X#E-D
3x+6 6 2x+4
(xviii) ~ Solve the following pair of equations graphically x+ y=0and 2x—y+3=0
SECTION — C (Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks. (3x8=24)
Q.3  The vertices of a triangle are P(4,6),0(-2,-4), R(-8,2). Show that the length of the line segment joining the mid
points of the line segments PR,ORis %PQ.
Q.4  The line segment joining the midpoints of two sides of a triangle, is parallel to the third side and is equa! to one half
of its length. :
Q.5  From a point outside a line, the perpendicular is the shortest distance from the point to the line.
Q.6  Ifina correspondence of the two right angled triangles, the hypotenuse and one side of one triangle are congruent
to the hypotenuse and the corresponding side of the other, then the triangles are congruent.
Q.7  Construct the AABC . Draw the bisectors of their angles mAB=3.6cm mBC=42cm msB=175"
MrtBeSgtlesnSopplementary 2016 25
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Answer Sheet No. L ’

Sig. of Invigilator.
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MATHEMATICS SSC-|

SECTION - A (Marks 15)

Time allowed: 20 Minutes (Old Syliabus)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct optioni.e. A/ B/ C /D, Each part carries one mark.

i There is no proper subset of:

A Empty Set B. Power Set C. Singleton Set D. Equal Set
(i) If x=+/3+2then x—£=

A 4 B. 243 c. -4 D. V3-2
(i) Vx,ye R, x=y < y=xthe property of real numbers is called:

A Reflexive B. Symmetric C. Transitive D. Trichotomy
(iv) 8.24x10™in standard form is:

A 0.000824 B. 0.0000824 C. 824 D. 82400
)] The characteristic of logarithm of 1500 is:

A 0 B. 3 C. 4 D. 1
(vi)  The degree of polynomial 7x’y* + x+ xy +3is:

A, 1 B. 2 C. 3 D. 5
Vi) I x+s=Tthen x* +i2 =

X X

A 49 B. 47 C. 51 D. 14
(vii)  Factorization of 1—-8Z2°is:

A (1-22)(1+2z +42%) B. (1-22)(1-2z+42%)

C. (1+2z)(1+2z+4z2%) D. (1+22)1-2z+42%)
(x)  If x+1is factor of x* +3x+mthen m =

A 2 B. 4 C. -2 D. 1
(x)  If {4|=0then Ais called matrix.

A Identity B. Inverse C. Singutar D. Adjoint

_ \

0 1ol

A [x+2y] B. [x+¥] C. [2x+ y] D. [x-2y]
(xii) Construction of a friangle is possible when sides are: .

A Sem,5em, lem B. _  10cm,3em,6cm C. 5cm,5¢cm,5¢cm D, 2em,3em,b6em
(xii)  The medians of a triangie intersect each other in the ratio:

A 1:3 B. 1:2 C. 1:1 , D. 1:4
xivi Ifa=b, b=cthen a=cis called:

A Postulate B. Axiom C. Given D. To prove
(xv) If number of elements in set 4is 3 and number of elements in set Bis 2, then number of binary relation

in Ax Bis:

A 2" B. 2* C. 2 D. 2¢

For Examiner’s use only:

Total Marks: 15

Marks Obtained:
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Sig. of Candidate: Sig. of Invigilator:
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22
MATHEMATICS SSC-1

(Old Syllabus)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any tweive parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatiy and legibiy.

SECTION — B {Marks 36)
Q.2 Attempt any TWELVE parts. Al parts carry equal marks. {12x3=36)

(i) If A={2,4,6,...... 100}, B={L3,5,...... 99} and U ={x|x € N A x <100} then show that
(AN B) =A4"uUB*
(i) If 4={2,3,4,5}, B={3,5,11,15} then find A—Band B—- 4
i} If 4={1,2,4}, B={1,3,5,7} then write a binary relation Rfor Ax Bif R={(x,))|xe dnye BAay<x}

(iv)  If x=2+/3 then find the value of x* +—1?
X

Ja+2-Ja-2
Ja+2+Ja-2

b o a
(vij  Simplify befyc x} Y x,,b{J’_h
o Ay

{vii) Find the value of xif log,, 8 =—;—

3733
256.4

(ix) Find the value of x* + y’when x+y=9, x—y=3

(x) Show that [x+l] _[x._l] =4

X X

(v} Simpiify

(viti)  Use Logarithm to solve

(xi) If x+2is a factor of x* + 4x* + Kx +8then find value of 'K’
(xii)  Factorize x* —13x% +36
(xii)  Find H.C.F by division method x* + 7x* + 16x+12, x* + 5x* +13x +14

a +ab+b? +a2—-ab+b2
+b a-b

(xv)  Factorize with the help of factor theorem y* ~3y* +4

(xvi)  Find square root of (2a+1)2a +3)2a+5)2a+7)+16

(xiv}  Simplify

20 1 0
(xvii) If 4= [1 5} , B= [:2 K} then find the value of ‘ K 'such that 4B = BA

(xviii) Use matrices to solve linear equations 3x+2y=7, Sx—y=3

SECTION — C {Marks 24)
Note: Attempt any THREE questions. Ail questions carry equai marks. (3x8=24)

Q.3 An exterior angle of a triangle is greater in measure than either of its opposite interior angles.
Q.4 Iftwo angles of a triangle are congruent then the sides opposite to them are also congruent.

Q.5 The line segment that joins the mid points of two sides of a triangle is parallel to the third side and is equal to one
half of its length.

Q.6  Draw the right bisectors of the sides of A4BC when mZ4 = 105",mﬁ =6.5cm, mAC = 4.8cm
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Answer Sheet No. ' 3

Sig. of Invigiiator.

---------------------------------------------------------------------------------------------------------------------------------------------------------------------------

PHYSICS SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes

(Revised Syllabus)

NOTE:

Section—A Is compuisory. All parts of this section are to be answered on the question paper Itself.

It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencii.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i

(ii)

(i)

(iv)

(v)

(vi)

{xii)

The number of base unit in Sl are:

A 3 B. 6 C.

1072 stands for:

A micro B. pico C.

7 D. 9

femto D. nano

A ball is thrown vertically upward, its velocity at the highest point is:

A -10my/s’ B. zero C.

What will be the weight of a body of 20kg mass?
A 2 Newton B.

20 Newton C.

10 m/s® D. None of these

A force of 10N is making an angle of 30° with Horizontal component will be:

A 4N B. 5N C.

The value of mass of earth is:
A 6x10%*kg B.
Sound energy is produced by the

A rotation B. circular motion C.
Which of the substances is the lightest one?
A Copper B ‘Mercury ' C.

A clinical thermometer has range from:
A 35°C to 42°C

C. 98°C to 100°C D.
Metais are good conductor of heat due to the:

A free electron B.
C. small size of their molecules - D.

cos@ is equal to:

A Hypotenuse Base

B. — C.

Base Hypotenuse

When a body is falling toward the earth, its P.E is:
A increasing B.

8x10*kg C.
of body.

not changing C.

For Examiner’s use only;

Total Marks: 12

Marks Obtained:

—— 188 1607~
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10 Newton D. 200 Newton

N D. 8. 1N

6x10%kg D. 8x10™kg

vibration D. linear motion
Aluminium D. Lead )

100°C to 180°C

None of these

big size of their molecules

rapid vibration of their molecules
H

Perpendicular D Base

Base ' Perpendicular

decreasing D. None of these
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.............................................................................................................................................................................................

l-‘}_e- ondd ol S 5

(Revsied Syllabus)

f(12:/:?f) Jilo

420 | s

-

e LA K e B s, .Jy,,/..a.b’_z..l,pﬂ_}f& 5 A LI & et &) N Ll errbpggeitloie i w2d

P
u’.’.‘} J:(c A=)

200N

2.4

o

U’j J:(c W AYV-I N

e A6 63 SE s s 1 Bl 1D 5O s

IS
- 7 6 - 3
e bl 107"
- S £ - Y|
ZJMJ&/JJI{"G»Q'?A-{_ ,lflég_i)’d,{sﬂ)fﬂ-g
» 10 m/s? =z P - —-10m/s*  __i
o9 1eg20 kg UL LT
- 10N % 20N 2N
el wand PIHL0 A e Qe 30° UL A1 X3S 10
. N % 5N - AN
e ed SN Lt
- 6x10% kg & 8x10% kg - 6x10%kg  __
-4"..&:’!14.;.:_ d/(‘)‘dili‘flf
- s o utf)’;' - S
g rsorsif
- < - &r = K -
=<;—Jn(Range)Zf3zJ/-fr/7‘J’?-j £
180°C = 100°C  _. 42°C o 35°C  __ih
S bt o 100°C = 98°C  _g -
SRR e o
AR L e AT
AangdP L L AR Ly
‘414 COS e
. A wi P
oilf 2 ouiG
e S P L7
» T SR
" 12] . 2F L el
- 188 1607 -

POY6iSufieppbatngntary 2016

1
()

(i)
(i)
{iv)
v)
(vi)
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(x)
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PHYSICS SSC-| M

(Revised Syllabus)

Time allowed: 2:40 Hours Total Marks Sections Band C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 33

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed three to fourlines. {11 x3=233)

(i)
(i)

(xi)

{xii)
(xiii)
{xiv)

(xv)

Note:

Q.3 a

What are the factors on which the accuracy in measuring physical quantity depend?
Which one of the two instruments is more precise and why?

a. Vernier Callipers b. Screw Gauge

A car starts from rest, its velocity becomes 20 m/s in 8s. Find its acceleration.

Why the spinner of a washing Machine is made to spin at a very high speed?

On what factors the‘centripetal force depends?

Differentiate between scalers and vectors.

What is the second condition for equilibrium?

A mechanic tightens the nut of a bicycle using a 15¢m long spanner by exerting a force of 200 . Find
the torgue that has tightened it.

What do you know about Global Positioning System?

Prove that K.E = %mv2

What is meant by density? What is its Sl unit?

Why Gaps are left in Railway Track? Explain briefly.

Why does a cup of hot tea become cold after some time?

Why wet clothes dry up more quickly in summer than in winter?
What is the unit of work? Also define it.

SECTION ~ C {Marks 20)
Attempt any TWO questions. All questions carry equal marks. (2x10 = 20)

From speed-time graph, prove that 2as =Ff> — Vi’ (04)

A car has a velocity of 10m/s .It accelerates at 0.2m/s’ for half minute. Find the distance travelled

during this time. (03)
What is random motion? Also give two examples. (03)
State and explain Newton’s Law of Gravitation. (06)
Explain the working of Hydraulic press with the help of diagram. (04)
Derive the relation for linear thermal expansion in solids. (04)
Define moment arm. {02)

Two masses 52kg and 48kg are attached to the ends of a string that passes over a frictionless

pulley. Find the Tension in the string and acceleration in the bodies when both the masses are
moving vertically. (04)

—— 1851607 —
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Answer Sheet No. \

Sig. of Invigilator.
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PHYSICS SSC-I
SECTION - A (Marks 12) - (Old Syllabus)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsofy. All parts of this section are to be answered on the question paper itself.
It shouid be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deieting/overwriting Is not aillowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i

(i)

(iif)

(v}

(vi)

(vif)

(viii)

(ix)

(x}

(xi)

{xit)

The theories of Greek scientists were based on:
A. General Facts B. Experiments C. Measurement D. Observations
Which of the following equation is true for measurement of volume of sphere?

4 3 4 4
A — B. e c.  —nxrt D. —Tr
3 4 3
The velocity and acceleration of a body moving with uniform speed in a circular path will be:
A In the same direction B. In the opposite direction
C. Mutually perpendicular D. Equal

A body of mass 'm’ is hanging vertically downward with the help of a mass less string. !f the body
is at rest then the tension in the string will be:
A T=0 B. T<W C. >W D. T=W

If Fx and Fy are rectangular components of a vector F, then magnitude of vector F is:

A N Fx?+ Fy2 B. Fx? + Fy? C. \/sz - Fy2 D. \/sz x Fy*

A spanner Is used to lossen a nut. The turning effect depends on the force applied and the
perpendicular distance from the force to the nut. Which name is given to the turning effect?
A Torque B. Pivot C. Pressure D. Resultant
A satellite of mass ‘m' is revolving at a height ‘h’ form earth surface. Its orbital velocity will be:

f GM gR gR
—_— B. JgR C. —_— D. —_
R+h & R+h R+h
The power of a lamp is 6 watt. How much energy does the lamp give out in 2 minutes?
A. 34 B. 12J C. 1204 D. 720 J

If 1 is the length of Tommy bar of screw jack, its pitch is ‘h;. Then mathematically its mechanical
advantage is given by the formula:

A Ma=Z 8 Ma=F o M4 b mu-ZE
h 3h h

In symbols young's modulas is defined as .

A oyp=dxel g oy L o oy E o piXL
FxL Axal Axal Axal

Mathematically, the specific heat 'C’ of a substance is defined as:

A C=A—T~ B. C=mAT C. =£ D C= aQ
aQ aQ aT maT

A man moves along a semicircle. What is the relation between distance covered (S) by him
and his displacement (d)?

A. S=d B. S=#d C. S>d D. S<d .

For Examiner’s use only:

Total Marks: 12

Marks Obtained:
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PHYSICS SSC-I /6
(Ot Syllabus)

Time aliowed: 2:40 Hours Total Marks Sections Band C: 53

NOTE: Answer any eleven parts from Sectlon ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and leglbly.

SECTION-B ks 33
Q.2 Answer any ELEVEN parts. The answer to each part shouid note exceed three to four lines.( 11 x 3 =33)
(1 What is the difference between astrophysics and geophysics?
(ii} Which scissor has greater M.A? One scissor of greater effort arm, ancther one of less effort arm, then

write the formula of Scissor's M.A.
- (i) Describe some reasons which are responsible for errors in measurement?
- (iv) Explain the graph between applied force and the force of friction for a block placed on the surface of a
table.
(v) When rocket takes off, the motion of the rocket and the burning gases are in the opposite direction.
Briefly explain law of conservation of momentum in this case.
(vi) Explain why it is easy to take water by hand pump with handle of greater length.
(viiy  Calculate the average density of earth.
(vii)  Does aman sitting in a moving car possesses potential energy, kinetic energy or both?
(ix) How can mechanical advantage of wheel and axle be increased?
(x)~  Provethat P = pgh
(
(

Xi) What is the difference between Boyle's law and Charles law?
Xii) Which thermat phenomenon is indicated in the given graph and how?

y-IAts

4C
Tempesature (T)  x-axis

lu s

(xiii}  Why does the climate of the regions near seashore remain moderate?
(xiv) ~ Where the weight of a body will be meore? on the earth surface, on the meon, in the water. Briefly explain

reasons.
(xv)  If awooden block of mass 1.5 kg is pushed along a smooth surface of a table with a force of 6N,
find the acceleration of the block.
SECTION -¢
Note: Attempt any TWO questions. All questions carry equal marks. {2 x 10 = 20)
Q.3 a What is the contribution of Galileo in Physics? {3)
" b What is the use of screw Gauge? Describe the L.C and construction of Screw Gauge. {4)
c. A helicopter is rnoving vertically up with a velocity of 8ms™'. A packet is dropped from the window
of the helicopter at a height of 122.8 m from the ground. How long the packet will take to
reach the ground? {3)
Q4 a Suppose a force F acts on a body making an angie & with the x-axis then: {4)
()] Find the magnitude of horizontal component of vectar F
(ii) Find the magnitude of vertical component of vector F

(iii) Find the magnitude of actua! vector F (Resultant vector)
{iv) Find the direction of actual vector F (Resultant vector)

b. What are geostationary sateilites? Also write their uses. {3)
c. A Painter weighing 700 N is standing on a plate form which is hung by two vertical ropes.
The weight of the plat form is 200 N and has 3m length. What will be the tension in the ropes if
the painter is standing 1 metre away from one end? {3)
Q5 a Define kinetic energy. Derive equation of kinetic energy of a moving body. 3)
. | ) 1
b. What is thermal conductivity? Prove that K = _ QL (4)
A(T -Ty)t
c. A fish weighing 3 kg is hanging on the one end of a 2 m long fishing rod. How much effort is
applied on the other end of the fishing rod when the fulcrum is 0.5 m away from this end, also
calculate the mechanical advantage of the fishing rod. (3)
—— 188 1607 —
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Roll No. Answer Sheet No. 7/

Sig. of Candidate. Sig. of invigilator.

BIOLOGY SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.

It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwrtiting is not allowed. Do not use iead pencil.

Q.1  Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

(i Which of these Bioelements is in the highest percentage in Protoplasm?

A Carbon B. Hydrogen C. Oxygen D. Nitrogen
(i) Who discovered the method of binomial nomenclature?

A Tourn Fort B. John Ray C. E. Chatton D. Carolus Linnaeus
(i) The Inner membrane of mitochondria forms many Infoldings which are called:

A Thylakoids B. Cristae C Stroma D. Granum
(iv) In which phase of Cell Cycle, the cell is preparing enzymes for Chromosome duplication.

A G1 phase B. G2 phase C. S phase D. M phase
(v) How many molecules of CO, are produced when Krebs cycle operates once?

A 01 B. 02 C. 03 D. 06
(i) Scurvy disease is caused by deficiency of:

A Vitamin A B. Vitamin B C. Vitamin C D. Vitamin D

(vii) ATP was discovered by:

A Karl B. Calvin C Linnaeus D. Mendel
(viii) Genetics is the study of;

A Parasites B. Fossils C. Genes D Environment
(ix) In Stomach pepsinogen is converted into:

A Pepsin B. Bicarbonate C. HC! D. Gastrin
(x) Celiac artery supplies blood to:

A Kidney B. Gonads C. Thigh D. Digestive tract
(i) National animal of Pakistan is:

A Tiger B. Markhor

C. Marcopolo Sheep D. Houbara bustard

(xii) What category of molecuies do enzymes belong to?

A Carbohydrates B. Lipids C. Proteins D. Nucleic acid

For Examiner’s use only:

Total Marks: 12

Marks Obtained:
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Time allowed: 2:40 Hours

BIOLOGY SSC-I

76

Total Marks Sections Band C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Q.2  Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines.

4

(i)
(i)

(xiii)
(xiv)

{xv)

Note:
Q.3 a.
b.
Q.4 a
b.
Q.5 a
b.

SECTION — B (Marks 33)

Define the following:

(a) Parasitology (b) Immunology  (c)

Pharmacology

(11 x3=33)

It is difficult to use Criterion of inter breeding to define species of unicellular organisms. Why?

Write the scientific name for;

(a) Orchid tree (b) House Crow  (¢)

What are the contributions of Whittaker, Margulis and Schwarts in taxanomy?

Differentiate between Transmission Electron Microscope(TEM) and Scanning Electron Microscope(SEM).

Write down the functions of Golgi Apparatus.

Division of prokaryotes is not called mitosis. Why?

What is meant by non-Disjunction?

How are prosthetic groups different from coenzymes.
Differentiate between Aerobic and Anaerobic Respiration.
Describe three uses of enzymes.

Write functions of the following:

(a) WBCs (b} Platelets

Write a short note on Apoptosis.

Give structure and function of Xylem Tissue.

Define the terms Systole and Diastole.

SECTION - C {Marks 20)

Attempt any TWO questions. All questions carry equal marks.

Write the General Characteristics of the five Kingdoms

How does Sadium-potassium pump show active Transport?

Define the following terms:

0] Peristalsis (ii) Mastication (iii} Balus
Write a note on Alcoholic Fermentation.

How does human heart work as a double pump? Explain.

Write short notes on:

(i Kwashior Kor (il Marsmus

— 1SA 1610 (L) —
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(2 x 10 = 20)

(05)
(05)

(02+02+02)

(04)

(06)

(04)
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Roll No. [ | J J Answer Sheet No. 7

Sig. of Candidate. Sig. of Invigilator.

..............
............................
.................................................................................................................................

BIOLOGY SSC-l
SECTION - A (Marks 12)

Time allowed: 20 Minutes

A ——

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.

It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

(i) Members of same species living in the same place at the same time make:

A. Habitat B. Population C. Community D. Biosphere
(ii) Scientific name of Orchid tree is:

A Bauhinia Cepa B. Bauhinia Veriegata

C. Baubhinia Rubens D. Bauhinia Sativum
(i) Prokaryotes have a Cell Wall composed of;

A Chitin B. Cellulcse C. Peptidoglycan D. Cholesterol

(iv) Who discovered nucleus in the Cell?

A Theoder Schwann B. Jean Baptist
C. Rudolf Virchow D. Robert Brown
(v) ATP was discovered by Karl Lohmann in:
A 1961 AD B. 1941 AD C. 1878 AD D. 1929 AD

(vi) Trypsin enzyme digests:

A Protein B. Carbchydrates C. Lipids D. Starch
(vii) The process of breaking down drops of fat into small droplets is called:

A Emuisification B. Absorption C. Peristalisis D. Churnings

(vill) Which of these are responsible for blood clotting?

A Platelets B. Erythrocytes  C. Neutrophils D. Basophils
(ix) In which phase, cell dupiicates its Chromosomes?

A G1 Phase B. G2 Phase C. S-Phase D. GO0 Phase
(x) Rickets Disease is caused by deficiency of.

A, Vitamin A B. Vitamin B C. Vitamin C D. Vitamin D

(xi) Hepatic artery Supplies blood to:
A. Digestive tract B. Liver C. Kidney D. Large Intestine

(xii) A related group of genra comprises:

A An order B. A family C. A Class D. A Phylum
For Examiner’s use only: .
Total Marks: 12
Marks Obtained:
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7e
BIOLOGY SSC-|

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)

Q.2  Attempt any ELEVEN parts. The answer to each part shouid not exceed 3 to 4 fines. (11 x3=33)
(i} Write down the name of the authors of following books:
(a) Al Abil (b) Al Haywan (c) Al Qanun fail Tib
(i) How are Prions different from Viroids?
(i) Write down the rules of Binomial Nomenclature.
(iv) Define the terms:
(a) Synapsis (b) Crossing over (c) Chiasmata
(v) How does pH of a medium affect enzyme activity?
{vi) Write the role of the following nutrients in human body:
(a) Calcium {b) Zinc (c) Fluoride
(vil) Differentiate between Alcoholic and Lactic acid fermentation.

(viit) How does sodium potassium pump show active transport?
(ix) Write short note on Internal Structure of Chloroplast.
(x) Briefly describe Denaturation of enzymes.
{xi) Write the symptoms and causes of the following diseases:
(a) Scurvy (b) Osteomalacia (c) Kwashiorkor
{xil) What is the rate of normai Heartbeat?
(xiii) Write a short note on Necrosis.

(xiv)  What is plasmolysis?

(xv) What are bio elements?
SECTION - C {(Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2x10=20)
Q.3 a Discuss the "Fluid-Mosaic Model of Cell membrane. Also draw its diagram. (03+02)
b. State the causes, treatments and Prevention of myocardial infarction. (05)
Q.4 a. Describe functions of liver except digestion. (05)
b. Write a note on Carbohydrates. (05)

Q.5  Outline the mechanism of respiration while defining glycolysis, Krebs Cycle and electron Transport Chain. {10)
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CHEMISTRY SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

(i Which term is same for one mole of oxygen gas and one mole of water?
A Volume B. Mass C. Atoms D. Molecules
(ii) Number of neutrons in 71: Mis:

A 13 B. 14 C. 27 D. 15
(iii) Which isotope is used to irradiate cancer cells?

A lodine-123 B. Carbon-14 C. Cobalt-60 D. lodine-131
(iv) Which of the foliowing groups contain alkaline earth metals?

A [ A B. A C. A D. IV A
(v) Which of the following elements has greater shielding effect?

A Li B. Na C. K D. Rb

l

a

o

]

u

0

l

]

"

|

|

a

a

]

.

]

n

i

{vi) Which of the following elements will gain one electron to complete its octet?

" A X B. X c. X D. X
B
B
o
]
a
"
a
a
l
n
B
]
]
]
|
a
=
]
o

13 16 17 18
(vii) Which of the following moiecules have a triple covalent bond?

A Cl, B. NH, C. N, D. O,
(viii)  Consider the following tabie:

. S.No. X Y XY
1 1.00 273 0.0037
2. 1.37 373 0.0037
3. 1.73 473 0.0037

Which of the following relationship does this table represent?

1
A Xm% B. XxY C. X=Y D. X=—

(ix) Which of the following is not the unit of pressure?

A m’ B. KPa C. mmHg D. torr
(x) H,5+Cl, — 2HCI+S

in above reaction H,S behaves as:

A Oxidizing agent B. Reducing agent

C. Catalyst D Electrolyte
(xi) The Oxidation number of ‘N ' in HNO, is:

A +2 B. +3 C. +5 D. +7
(xii) Which of the foliowing is the most basic oxide?

A MgO B. BaO

C. CaO D SrO

For Examiner’s use only:

Total Marks: 12

Marks Obtained:
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Time allowed: 2:40 Hours

CHEMISTRY SSC-i 24

Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. {(11x3=33)
0 Indigo dye (C H,,N,O,)is used to colour blue jeans. It is derived from indoxyi (C,H,ON).
Calculate the molar masses of these two compounds and write their empirical formulas.
[At. Masses: C=12,H=1,0=16 ,N=14]
- (i) Identify the branch of Chemistry that deals with the following examples:
(a) Sulphur dioxide is the major source of acid rain. (b) A silver aticle tarnishes in air.
{c) Gasoline (a mixture of hydrocarbons) fumes are ignited in an automobile engine.
(iii) Write electronic configuration of the foliowing elements.
@ o Ar ()  Na ©  OF
I8 1 9
(iv) Define the term ‘Shielding effect’ and identify the atom having greater shieiding effect from the list
given below. Also explain your choice.
Li, Be, Mg
(V) Wirite the Valence Shell electronic configuration of the following groups:
(a) Noble gases (b) Halogens {c) Alkali metals
(vi) Define the following:
(a) Octet rule (b) Duplet rule (c) Chemical bond
{vii) Using electron dot and cross structures write the equation for the formation of ionic bond between Mg
and O.
(vii)  Differentiate between Amorphous and Crystalline solids.
(i) A perfect elastic balloon filled with helium gas has a volume 1.25%10°dm® at 25 °C . When the
temperature drops to 15 °C the volume of the balloon becomes 1.208 x| 0'dm” at constant pressure.
Show that this data satisfies the Charles’ law.
(x) What is ‘Distillation process’? Draw a diagram of distillation apparatus.
{x1) Calculate the molarity of a solution prepared by dissolving 1.25g HC/ gas in water to make 30cm’
solution. [At. Masses: H=1, C/=35.5]
(xil) Give a comparison of oxidation and reduction process.
(xii)  Explain Electrolytic refining of Copper.
(xiv)  What are Noble metals? Write two uses of these metals.
(xv) Write the balanced equation for the reaction of potassium superoxide with water and discuss utility
of this reaction.
SECTION — C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2 x 10 = 20)
Q.3 a Write two differences between the isotopes of an element. Also write name of isotopes of
hydrogen and draw their Bohr's atomic model. (04)
b. Draw.a labelled diagram of Galvanic Cell (Daniel Cell) and write the half cell reactions taking
‘place at anode and cathode of the Daniel Cell. {06)
Q4 a. Define the following periodic properties and discuss their trends in periods and groups of the
periodic table: {06)
y) Atomic size (i) lonization energy (i) Electron affinity
b. Explain the effect of Change in external pressure on the boiling point of a liquid. (04)'
Q.5 a Give a comparison of properties of solutions, suspensions and colioids. (05)
b. Define the following terms: ‘ {05)
(i) Relative atomic mass (i) Free radical (i) Mass number
(iv) Molecular-ion (v) Formula mass
ssemiity 20ituadnnual — 1A 1608 (L) —— 53
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s Roll No. Answer Sheet No. L[
Sig. of Candidate. Sig. of Invigilator.
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a CHEMISTRY SSC-I
o SECTION - A (Marks 12)
B Time allowed: 20 Minutes
n NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
ry .
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.

| Deleting/overwriting is not allowed. Do not use lead pencil.
[ | Q.1  Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.
. 0] The branch of Chemistry that deals with laws and theories to understand the structure and changes of
B matter is called:

A. Biochemistry B. Physical Chemistry
. C Industriat Chemistry D. Analytical Chemistry
. (it) 2?2 U is used in atomic bombs, the number of neutrons present in this isotope of Uranium is:

A 235 B. 143 C. 144 D. 92
. (i) Which one of the following sub shell is filled after filling of 3p sub shell?
[ | A 3d B. 3s o ds D. 4p
- (v)  Electronic configuration of an element is s’ 2s° 2p° 3s” 3p' . In which of the following groups it will be

placed?
[ ] A A B. mA C. IVA D. VA
. (v) Which one of the following compounds is not having an ionic bond?

A NaCl B. MgO C. Mgk, D. Cco,
a {vi) Which one of the following molecules has a non-polar covalent bond?
N A. N, B. NH, C. NO, D. N,O,
. (vi) A liguid boils when its vapour pressure becomes equal to:

A 760cmHg B. 101.325KPa C. I Pa D. 0.1 atm
] (vil)  Which is the property of crystalline solids?
. A Random piacement of particles B. Very soft

C. Well defined shape D. irregular shape
A (ix) Which quantity is same for one mole of hydrogen gas and one mole of water?

A mass B. number of atoms
[ ] C. number of gram atomic mass D. number of molecutes

(x) An electrochemical cell in which electrical energy is used t6 derive a chemical reaction is called:
| A Voltaic cell B. Electrolytic cell
. C Galvanic cell D. Dry cell
(xi) Galvanizing is:

[ ] A Coating with Tin B. Coating with Zinc

C Coating with Chromium D. Coating with Copper
. (xii) The tendency of a metal to lose electrons is called:

A Electro negativity B. Electron affinity
[ ] C. Electro positivity D. Electricity
. For Examiner’s use only:
. Total Marks: &
e Marks Obtained:
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2/
CHEMISTRY SSC-|

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘¢’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 33)

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11x3=33)
(i) What is mole? Calculate the number of atoms in 1.25 moles of Zinc.
(i Differentiate between empirical and molecular formuia. Give an example of a substance having different
empirical and molecular formula.
(iiiy Wirite the electronic configuration of foliowing elements.
27 40
(@ i ) AL (©  wAr
(iv) What is ionization energy? Explain the trend of ionization energy in a period and a group of the periodic
table.
V) Write down the group number and pericd number of the following atoms:
(a) A=1s"2s"2p' (b) B=1s5"2s"2p"3s' (c) C=1s"25"2p"
{vi) Describe the formation of O~ anion with the help of electronic configuration and electron dot structure.
[At. No. of ‘O’ = 8).
(vii) Draw the electron cross and dot structure of the following molecules. [At. No. N=7, H=1, $=16, C=6]
(a) NH, (b) H,S () CH,
(viiiy  Define the following terms:
(a) Evaporation {b) Diffusion (c) Bailing Point

(ix) Explain the effect on the volume of a gas by changing its pressure and temperature.

(x) What are allotropes? Give name of allotropes of Carbon and Sulphur.

(xi} What are colloids? Give their properties.

(>d) Explain the term 'percentage of solution’ and write four ways to express the ‘percentage of solutions’.

(xii)  Define the term '‘Oxidation’. Determine the oxidation number of ‘Cr’ in K,Cr, O, .

(xiv)  Draw a labelled diagram to show electroiytic refining of Copper. ]

(xv) How would you perform a test for identification of Ca*" and Ba? ions in the given salt? Give observations
of the test performed.

SECTION - C (Marks 20)

wote: Attempt any TWO questions. All questions carry equal marks. (2 x10 = 20)
@3 a. Write down postulates of Bohr's atomic model. {05)
b. Using a labelled diagram explain the conduction of electricity through moiten Sodium Chloride. {05)
1.4  a. State the Charles’ Law and expiain the Volume-Temperature relationship at constant pressure by
using the data given below: (08)
[ Temperature (°C) | Volume {cm’) | Temperature (°C) | Volume (cm")
25 117.5 35 121.3
30 119.4 40 123.2 |
b. Giving suitable examples define and expiain the following terms: 02+02
(i) Gram molecular mass (i} Gram formula mass
QA.5 a. Define molarity. Calculate mass of NaOH in grams in a 0.25M solution of NaOH . Volume of this
solution is 1 dm’[At. Masses: Na=23 , O=16, H=!] 01+03
b. Using a labelled diagram explain the manufacturing of Sodium metal from fused NaClby Down's Cell
process. (06)
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COMPUTER SCIENCE SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory, All parts of this section are to be answered on the question paper itself.

It should be completed in the first 20 minutes and
Deleting/overwriting is not allowed. Do not use lead pencil.

handed over to the Centre Superintendent.

Q.1 Circle the correct option l.e. A/ B/ C / D. Each part carries one mark.

(i) Anaiytical Engine was invented by:
A Napier B. Muller C. Mauchly
(i) A 16 — bits bus can transfer data:
A 1 byte B. 2 bytes C. 3 bytes
(i) Which of the following is not a semiconductor memory?
A ROM B. RAM C. PROM
{iv) Which of the following is NOT pointing device?
A Mouse B. Joystick C. Track ball
(v) A plotter is:
A Storage device B. Input device  C. Dual device

(vi) The smallest unit of computer's memory is:

A BIT B. Byte C. Nibble

(vii) Prompt command is a(n):

D.

Charles Babbage

4 bytes

None of these

None of these

Output device

Character

32

__minutes.
30

Y

256

A. External command B. Internal command
C. Both (a) and (b) D None of these
(viii) How many numbers of tracks are there in one cylinder of hard disk with two platters?
A 4 B. 8 C. 16 L.
{ix) System software consists of:
A. Device driver B. Communication Software
C. Database Management System D. Application Software
(x) By defauit, MS-Word automatically saves your document after every
A 5 B. 10 C. 15 D.
(xi) The number of colours a CGA monitor displays is:
A 4 B. 18 C. 64 D.
(i) Toolbar command is listed on drop-down list of:
A View B. Insert C. Format D.

For Examiner’s use only:

Total Marks:
Marks Obtained:
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- COMPUTER SCIENCE SSC-I

75

Time allowed: 2:40 Hours Total Marks Sections B and C: 43

NOTE:- Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separateiy
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers

neatly and legibly. )

SECTION ~ B (Marks 27)

Q.2 Answer any NINE parts. The answer to each part should not exceed 3 to 4 lines.

(i Define the following terms?
a) Pixel - b) Mnemonic c) ALU
(i) What is input unit? Name three input devices.

(i) Define port. Compare serial and parallet ports.

(iv) Give three differences between floppy and hard disk.

vy List the classification of computer.

(vi) Why is ROM known as non-volatile memory?

(vii) What is meant by Computer Storage?

(viy  List the advantage of working MS-Windows environment.
(ix) Define virus with examples.

{x) Define recycle bin.

{xi) Describe three primary mouse movements in windows.
(xil) Write a note on Application Software.

(xit)  Whatis a compiler? How does it differ from an interpreter?

SECTION - C {(Marks 16)

Note: Attempt any TWO questions. All questions carry equal marks.

Q.3  Whatis bus? Describe the types of bus,

Q.4 a Differentiate the following:
i) Wallpaper and desktop
i) UNIVAC and EDVAC
b. Write down short note on the following:
i) Keyboard

i) Liquid Crystal Display (LCD)

Q.5 a. What is internet? Describe its importance in society.
b. What is meant by indenting a paragraph in MS-Word? Explain it.
—— 18A 1611 —

- G80@p046 Strened 2016 Annual

(9x3=27)

(2 x 8 =16)
{02+06)

{04+04)

(04)
(04)

20



SAPCTETY FERT RRTRLI NI AT S

A3 ol o o AN

LIS ()0 c:.éfa.(_r.'.'ﬁr o sl JZ09) F (93 oo s g QKGR L'S’JL#LM.%’@@&L@UWL"(V" ot e

Ll Stz £ TSl el S (Sheet-B)22if)

27 45) (oo

(9x3:=27) :ufdg,t,uz;,f.ﬁuw;ga. Ll (09 iz Al
. A )
ALU & Mnemonic —— Pixel .3
b linput devicesfe (St Voinput (i)
U /=Jlv§ Parallel PortsiSerial Portie L Port (i
O FunL CiiMard disksFloopy ()
A fetert Sl (v)
?c‘-&lg&lgnonwvolatile memoryus’ ROM {vi)
el Storage. (vii)
_uf/lzujd;’l;’LMS—Windows environment  (viii)
AU AL IS (ix)
_L/_/LQ/URecycle bin (x)
_q/u_L;.F’rimary Mouse movementob’fuiLd/l/?cfufwmdows (xi)
_u:"’ﬂ}{Appiication Software (i
fe LA e interpreter 252 Complier  (xii)
| (16 4F) pruo
{(2x8=16) (..'uj/,b:/_’.'ﬁu)lyra_ggfdlf Y] c;_éf)
(02+06) U Ui Bus P Sy
04+04 SIS S smir L Al
Ut EDVACAHUNIVAC (i) U* Deskiop.s'Wallpaper 0
_u;“‘{:!}“?{(f_jgzp —
Liquid Crystal Display (LCD) (ii) Keyboard (i
(04) SIS foSe e (ntemetiecs) it ap
(04) *u:"ia.d:‘j?ct-;f/gf/_.lndenting a Paragraph MS-Word -

S8 0a6 Seiena 2016 Annual

[
P



RoliNo. | | | | | Answer Sheet No.____¢

Sig. of Candidate. Sig. of Invigilator.

.......................................................................................................................................................................

ENGLISH COMPULSORY SSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes (Revised Syllabus)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

{iy ‘Media has also become a mouth piece of the down trodden’. The sentence means:
A Media shapes morals of the younger generation
B. Media focuses the democracy
C. Media highlights problems of the oppressed
D. Media highlights crimes
(i) The fluttering daffodils were compared with:
A Stars B. Waves C. Lake D. Birds
{iii) “Fighting a lost battle” refers to:
A, Sympathy B. Courage C. Certainty D. Hopelessness
(Iv) Technology based irritants are:
A Cars, buses, aeroplanes, etc. B. Noise of birds and animals
C. Mobile phones, generators, T.V, etc. D. Road site construction machinery
(v} Hellen Keller gave an insight into how she felt about the world, in her book, titled:
A “THREE DAYS TO LIVE" B. “THE WORLD | LIVE IN"
C. “EAT, DRINK AND BE MERRY” D. "HOW TO USE YOUR EYES’
(vi) Which part of speech, the word, Communication, is?
A Noun B. Adjective C. Adverb D. Verb
(i) The abbreviation, WHQ, stands for;
A World Hepatitis Organization B. World Heaith Organization
C. Water and Housing Organization D. World Holy Organization
(vii)  “Tree branches were covered with blanket of snow.” Which figure of speech is used in this sentence?
A Alliteration B. Metaphor C. Simile D. Personification
(ix) Her life would always be a beacon light for all of us.
A in B. of C. with D intc
{x) He ) to us tomorrow.
A will come B. Came C. Comes D. had come
(xi) Where are books which | bought a week ago.
A A B. An C. The D. None of these
(xii) Anwar, whom no one listened to, was right. The underlined word is:
A Reflexive pronoun B. Relative pronoun
C. Possessive pronoun D. Personal pronoun
(xiil) She is for London tomorrow.
A left B. leave C. leaves D. leaving
(xiv) | soon returned home because | was upset. (ldentify the type of sentence)
A Compound sentence B. Complex sentence
C. Simple sentence D. Incomplete sentence
(xv) Amina speaks English very well, ____ she does not assist her friends in learning to speak English.
{Insert appropriate transitional device)
A However B. Further C. Thus D. So

For Examiner’s use only:
Total Marks: 15

Marks Obtained:

i

EB8glit0ChrApuisalry 2016 Annual -— 18A 1601 (1) — B3



ENGLISH COMPULSORY SSC-I G2
Revised Syllabus

[y

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Sections B and C comprise Pages 1-2. Answer all the questions from Sections ‘B’ and .‘C’ on t_he
separately provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write
your answers neatly and legibly.

SECTION ~ B (Marks 39)

Q.2 Answer any SIX of the following parts in about 30 to 40 words each. Each part carries 3 marks.

(6x3=18)
{i) What was the first revelation?
(ii) Which is your favourite T.V program and why?
(i) Why is Sultan Ahmad Mosgue also known as Blue Mosque? Also name the architect of the mosque.
iv) What was the Quaid’s concept of our nation?
V) What do you infer from the expression, “Try once for her” about the nurse's professional skills?

(
(
{vi) What are the responsibilities of the families to ensure complete recovery of drug addicts?
(vii) Why is noise dangerous for human health?

(

viii) Who was Hellen Keller? What makes you fee! that she is sad and depressed?
Q.3 a Paraphrase any ONE of the following stanzas: (03)

(1) For oft, when on my couch | lie
In vacant or in pensive mood,
They flash upon that inward eye
Which is the bliss of solitude;
And then my heart with pleasure fills,
And dances with the daffodils.

(i) My little horse must think it queer
To stop without a farmhouse near
Between the woods and frozen lake

The darkest evening of the year.
b. Read the following stanza carefully and answer the questions given at the end: (06)

| wandered lonely as a cloud

That fioats on high o'er vales and hills,
When all at once | saw a crowd,

A host of golden daffodils;

Beside the lake, beneath the trees,

Fluttering and dancing in the breeze.

Questions:
(i Describe the simile used by the poet in this stanza.
{ii) What caught poet's attention?
(ii}) Describe the movement of daffodils.
Q.4 a Change the Voice of any FOUR of the following: (04)
) Were Television sets being imported by them from China?

(

(i} We use milk for making Cheese.

(Hh) He took away my books.

{iv) The picture is made by the boy.

(v} Why was such a letter written by her?
(vi) We shall have killed the snake.

(vii) From where will they buy the harse?

EBgli?0 GHrApuisalry 2016 Annual 83
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b. Provide correct form of Verb of any FIVE of the following sentences:

i) She (not hear) any noise an hour ago.

i) She (work) well yesterday.

it You (not understand) it tomorrow.

v} People (working) since morning.

vi) The baby (cry) for milk now,
i

vii) He (not keep) me waiting.

(
{
(
(iv) The bus (stop) before we stepped out.
(
(
(
{

viilt | never (see) snow before | went to Murree.

c. Punctuate and capitalize the following para/ line{s}:

a fellow nurse came near me and asked rahila what are you doing

SECTION — C {Marks 21)

Q.5 Write a letter to your rother who is worried about your health.

Write a lefter to your friend congratulating him/her on his/her birthday.

Q.6  Write a paragraph of about 60 to 70 words on “*How to Keep Our Town Clean”

Q.7  Translate any EIGHT of the following sentences into English:

~
=2

»
J ~ Fe 5 . L ..
Ve B Gl 2t U”f”{ Sy (i)

i, .

Sl e e ()
Lo Kb JE (V)
—e e (Vi)
,/4/_
¢ LL'J‘L# < V/ pilssn (X)

. . oS o
-:J_.L,,"Z('_J r‘_/ J",g(crﬁ g':"/u b»"u:' (X“)

i

ce A e G

U el L f

S AU L
S Su S L Lot 3.

ce it d Lo ¥l

s

- . -,'/‘/ -
-54_14:,& g

Write a dialogue between a father and his son about the upcoming annual examination.

Write a dialogue between a tailor and customer on stitching the clothes in time for Eid.

—— 1SA 16801 (L) —
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................................................. ENGLISH COMPULSORY §6¢70
SECTION — A (Marks 15)
Time allowed: 20 Minutes (Revised Syllabus)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.

] The nature of competition held at Ukaz was:

A Religious B. Poetic C. Philosophical D. Musical
(i) Hazrat Asma (R A) was given the title of Zaat-un-Nataqin by the Holy Prophet (#F) for:

A Not teling Abu Jehl whereabouts of Holy Prophet (ﬁ@’;’.ﬂ)

B Accepting Islam

C. Providing food to Prophet Muhammad (ﬁ{,‘i") during periious journey

D Being generous to the poor and the needy
(iii) The Sultan Ahmad Mosque was inaugurated in:

A 1609 AD B. 1610 AD C. 1615 AD D. 1616 AD
(iv) Rehabilitation centres are places where:

A Drugs are sold at cheap rates

B. Drug addicts are cured

C. Government holds awareness lectures

D. Drug addicts live a discontented life
(V) Punjab Environment Protection Agency recommends:

A 75 decibels of noise level B. 80 decibels of noise level

C. 85 decibels of noise level D. 90 decibels of noise level
(vi) She simply posed a question that infuriated Abu Jehl. The underiined word means:

A Pleased B. Helped C. Enraged D. Encouraged
(vil) The abbreviation ‘M. Phil' stands for:

A Mgcnitoring Philosophy B. Medal of Philosophy

C. Mainstream Philosophy D. Master of Philosophy
(wviii) The floors are covered with carpets. The underlined word is antonym of.

A Spread B. Enclosed C. Stretched D. Exposed
(ix) Why don't you go along your brother?

A with B. To C. By D. For
(x) Who is for this chaos?

A Responding B. Responsible  C. Respcnsive D. Responded
(x) Sagib is leaving Friday at noon.

A At B. On C. In D. After
(xii) | know the woman whose child was hurt. The undetlined word is:

A Personal pronoun B. Possessive pronoun

C. Relative pronoun D. Reflexive pronoun
(xiii) They are to dinner on Sunday. (Inser* correct form of verb)

A Coming B. Comes C. Come D Came
(xiv)  We shall die one day or the other for we are im mortal. (!dentify the type of sentence)

A Incomplete sentence B. Simple sentence

C Complex sentence D. Compound sentence
(xv) The government has levied more taxes, the salary structure has not been improved.

(Insert appropriate transitional device)

A. Infact B. But C. And D. Hence

For Examiner’'s use only:
Total Marks:

15
Marks Obtained: |
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ENGLISH COMPULSORY SSC-I 4
Revised Syllabus

Timem;IIowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Sections B and C comprise Pages 1-2. Answer all the questions from Sections ‘B’ and 'C’ on t!1e
separately provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write
your answers heatly and legibly.

SECTION — B (Marks 39)

Q.2  Answer any SIX of the following parts in about 30 to 40 words each. Each part carries 3 marks.
(6x3=18)
(n Which incident in the story tells about the generosity of Hazrat Asma (R.A}?

(i) How will you elaborate Quaid-e-Azam Muhammad Ali Jinnah's quote, "We must develop a sense of
patriotism which galvanizes us all into one united and strong nation"?

(i For what purpose does a heavy iron chain hang in the Sultan Ahmad Mosque?

(iv) What was the mission of the Holy Prophet (éﬁf’ﬁ')?

(v Describe some of the qualities of the nurse. (Refer to lesson, ‘All is not Lost')

(vi) What are the causes and effects of drug addiction?

{vil) How is construction work a cause of noise poilution?

(vii}  "To me the pageant of seasons is an unending drama " Comment with reference to the lesson, ‘Three

Days to See’

Q.3 a Paraphrase any ONE of the following stanzas: (03)

() I wandered lonely as a cloud
That floats on high o'er vales and hills,
When all at once | saw a crowed,
A host of golden daffodils;
Beside the fake, beneath the trees,

Fluttering and dancing in the breeze.

(i) The woods are lovely, dark and deep,
But | have promises to keep,
And miies to go before ! sleep,

And miles to go before | sleep.
b. Read the following stanza carefully and answer the questions given at the end: (06)

He gives his harness bells a shake
To ask if there is some mistake.
The only other sound's the sweep

Of easy wind and downy flake.

Questions:
Q) Whom does ‘He' refer to in this stanza?
(i) Why does ‘He’ think that ‘He’ was stopped mistakenly?
(it} What socund could be heard other than harness bells?
Q.4 a Change the Voice of any FOUR of the following: (04)
1)) The driver opened the door of the car.

(i) They are buying this house.
(i) Why were they beating the boy?

{iv) We shall have finished our work by March next.
(v) The board has given me a gold medal.

{vi) The boy was praised for his courage by him.
(vil) Will the tea be made by me?

EB8glit0 CdrApuisalry 2016 Annual Page 1 of 2 (Eng. Com. New) 21




b. Provide correct form of Verb of any FIVE of the following sentences: (05)

{1) If you work hard, you {pass).

{ii) She (play) the pianc since 2 o'clock.

(i) They (not do) their work regularly.

(iv) She was singing a song when i (enter) the room.
{v) Guests (leave) for London tomarrow.

{vi) | (not have) much meney by next year.

{vii) | (shut) the door softly.

{vill) it (begin) to rain an hour ago.

c. Punctuate and capitalize the following para/ line(s): {03)
it is their tutorial day the students are all geared up they know what is about to come and they are

prepared for it

SECTION - C (Marks 21)

Q.5 Write a letter to your friend thanking him/her for hospitality during your stay with him/her (08)
-OR-
Write a letter to your friend thanking him/her for the books he/she lent to you.
Q.6  Write a paragraph of about 60 to 70 words on “The Teacher | Like the Best” (05)
Q.7 Translate any EIGHT of the foilowing sentences into English: (08)
ST eyl (ii) ,435;;Mur F et i )
Ce STyl W) P e P ()
£rils oy b’u}j (vi) = u:/ STUL Eiea (v)
= f - - -
C T e Sk g (Vi) e dndibas U sl (Vi)
PSR SV BRSPS ()
. < e o, b {xii) .)_‘: Sl g U ;,/} LNy {xi)
- OR-

Write a dialogue between two students concerning importance of time.
-OR-

Write a dialogue in which teacher inquires a student who is habitually late in class.

--— 18A 1601 (ON}) —~

Page 2 of 2 (Eng. Com. New)

EB8glit0 CdrApuisalry 2016 Annual

[
&




Answer Sheet No.

Sig. of Candidate. Sig. of Invigilator.

...................................................................................................................................................

ENGLISH COMPULSORY SSC-|
SECTION — A (Marks 15)

Time allowed: 20 Minutes

........................

{Old Syllabus)

NOTE: Section—A is compulsory and comprises pages 1 — 2. All parts of this section are to be answered on
the question paper itself. It should be completed in the first 20 minutes and handed over to the Centre

Superintendent. Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct optioni.e. A/ B /C/D. Each part carries one mark.

(i) Before the advent of Islam, the people of Arab used to worship:
A Sun B. Moon
C. Idols D. Stars

(i) Hazrat Khalid Bin Waleed (R.A) belonged to a famous family of:

A Warriors B. Players
C. Slaves L. Khalifahs

(i) | have many friends but my brother is my friend.
A good B. very gaod
C. better D. best

{v) The demise of states comes when leaders listen only to superficial:
A Words B. Feelings
C Sounds D. Music

(V) On the event of the great dinner, the Chinese people forget their:
A Past B. Elders
C Quarrels D Joys

(vi) In 1992, the Fatima Park was made exclusively a:
A Joyland B. Playland
C. Exercise place D. Ladies Park

(Vi) "He hit the ball’. What tense is it?

A Present Indefinite Tense B. Past Indefinite Tense

C Past Perfect Tense D. Past Continuous Tense
(vii)  When it rains, the rain water seeps the soil.

A Of B. Through

C With L. On

{ix) Abou Ben Adhem Woke one night from a:

A Sound Sleep B. Dream

o

Deep Dream D. Deep Dream of Peace

Page 1 of 2 (Eng. Comp. Old)
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DO NOT WRITE ANYTHING HERE

(x) Insects live in:

A Cities B. Rural Areas

C Towns D. Groups or Cclonies
(xi) Sometimes rivers run rocks made of limestone.

A On B. Into

C Over D. From

{xii)  Who wandered lonely as a Child?

A I B. You

C. The poet D. She
{xiii) Stars in the sky.

A Dance B. Flutter

C. Shine D. Move

(xiv}) Do not walk on the road if there is a:
A Footpath B. Road
C Play ground D. School
{xv) The prisoners of the battle of Badr were asked to:
A Do Business B. Construct Buildings

C. Teach the chiidren of Muslims D. Take rest

For Examiner’s use only:
Total Marks:
Marks Obtained:
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ENGLISH COMPULSORY SSC-I
(Old Syllabus)

h t\\,‘»» —
tanens

-

p

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer all the questions from Sections ‘B’ and ‘C’ on the separately provided answer book.
Use supplementary answer sheet i.e. Sheet-B if required. Write your answers neatly and legibly.

SECTION — B (Marks 39)

Q.2 Answer any SIX of the following parts in about 30 to 40 words each. Each part carries 3 marks.
(6x3=18)

i) What was the condition of women before the advent of Islam?
ii) At the time of embracing Islam, what did Hazrat Khalid Bin Waleed (R.A) say to Hazrat Muhammad *¥x7?
Describe an instance about kindness to animals from the life of Hazrat Muhammad s,

(
(
(iir)
{iv) What are the problems of urban life? (Refer to the lesson ~ Rural and Urban Life in Pakistan)
(v) What did the Prince describe to the master when he returned from the forest after a year?
(vi) Why have women become socially and politically aware?

{vii) Describe the process by which bees gather food.

{

viil) What is water cycle by which rain is returned to the earth?

Q.3 A, Paraphrase any ONE of the following stanzas: (03)
(N Yet, of the dark | have no fear, (i) The angel wrote and vanished. The next night,
But fee! as safe as when it's light; It came again with a great wakening light,
For | know God is with me there, And show'd the names whom love of God had blest,
And He will guard me through the night. And Lo! Ben Adhem’s name led ali the rest.
B. Read the following stanza carefully and answer the questions given at the end: (06)

Continuous as the stars that shine,
And twinkle on the Milky Way,

They stretched in never-ending line,
Along the margin of a bay

Ten thousand saw | at a glance,
Tossing their heads in sprightly dance.

Questions:
(1) List the gualities of the stars which can be found in the daffodiis.
(ii) What were the daffodils doing?
(iii) What does the word, ‘Sprightly’ mean?
Q.4  Change the Voice of any FOUR of the following: (04)
{t) Nasir Kills a lion. () Open the door.
(1) Did he eat a mango? (iv) He will finish the work.
(v) She has not beaten the dog. (vi) Who was knocking at the door?
(vi) The thief is being caught by the police.
Q.5 Use any FOUR of the following Phrasal Verbs in sentences: (04)
(i) Bring up (ii) Come in (iii) Give up (iv) Act upon
(v) Look after (vi) Fond of (vii} Put on
Q.6  Punctuate and capitalize the following para / line(s): ' (04)

to collect all the food that is needed, the bees fly around looking for new clumps of flowers if they find
some they return to the hive and tell the others where the new supply of food can be found.

SECTION - C (Marks 21)

Q.7  Write a letter to your friend congratulating him/her on his/her success. (08)
-OR-
Wirite a letter to your uncle thanking him for a gift.

Q.8  Wiite a paragraph of about 50 to 70 words on “A visit to a Hill Station” with the help of the following word bank:  (08)
My love of adventure --- thick forest - beautiful hills --- dangerous turns

Q.9  Translate any FIVE of the following sentences into English: (05)
S e (i) e STl L ()
Lt poelod () W ke ST L (i)
e U s () Co For o de W

U A, i

-OR-

Write a dialogue between a brother and a sister concerning time,
BB@list0CdrApuisalry 2016 Annual 20
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Answer Sheet No. 1}

Sig. of Invigilator.

...........................................................................................................................................................................

ISLAMIYAT COMPULSORY SSC-
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

For Examiner’s use only:

Total Marks: 15

Marks Obtained:

—— 15A 1605 ~—
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"
- {n The total Ayaat of Sura Al-Mumtahena are:
. A 13 B. 14 C. 75 D. 76
(i) What does 2% mean?
a8 A The believer B. The disbeliever
. C. One who weakens D. The Helper
{iii) Waealth and Children are:
[ ] A Blessing B. Test C. Wealth D. Virtue
m (ivy  What does s »Imean?
A Prisoner B. Night C. Ride D. Battle
] (v) What does ¢jazdi mean?
A Disbeliever B. Patient C. Frighten D. Remembering
. {vi) What does =i mean?
] A Generous B. Cruel C. Miser D. Patient
{vil) O believers! Be not like those who harassed:
| A Hazrat lbrahim (A.S) B. Hazrat Mosa (A.S)
) C. Hazrat Eisa (A S) D. Hazrat Muhammad (é%’ﬂ)
(Vi) It is order to follow Prophet in Sura Mumtahina.
] A Hazrat Muhammad (gjb%fj) B. Hazrat Nuh (A.S)
8 C. Hazrat Mosa (A.S) D. Hazrat Ibrahim (A.S)
(ix) What does (Caisds mean?
[ ] A They will not disobey you B. They will not steal
. C They will not commit paganism D. They will not commit adultry
(X) The best prayer according to Hadith is:
8 A Pray for Jannah B. Pray for life
] C. Pray for livelihood D. Pray for forgiveness
(xi) The Hadith describes principles for the accomplishment of faith.
| A2 B. 3 c. 4 D. 5
| . (xii) The Holly Quran has warned in harsh words, the persons who do not pay Zakaat in Sura:
A Al-Bagara B. Al-Anfaal C. Al-Ahzab D. Al-Tauba
. (xiiiy Gusl on Friday is:
. A Sin B. Sunnah
C. Waijib D. Farz
. (xiv})  Themanis of Allah on the earth.
B A Prophet B. Angel C. Sahabi D. Caliph
(xv)  What does =% mean?
[ ] A To be kind B. Fearof Allah C. To be safe D. Strong
|
|
o
||
|
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ISLAMIYAT COMPULSORY SSC-|

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer all the questions of Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 38)

Q.2 a Translate any TWO of the following Quranic Verses: (2x4=8)
.z,..z S L re P4 \ ,,5,;,/,9 T~ sy, 4/:2}_’; H
,ﬂg 2ot ;U.J’é;.:b FONE ARSAG RS~ ¢ ;—bw) &5 Gt O HEEL (i)
[ //J J).fj(..l ULE /: i ’ . fuaﬁ;:)’géd’ ,/:w,,,:::/, /,9) R 4} (")
[‘99 /74,;.4/ Z.(p) , ,,,z,)ﬂ :
WpE15aT 20 %nse 0 032 odaad
® A&Gandl B 2T 38 EE 2 b s ARl Ak s s (§ii)
b. In the Quranic Verses and their transiation given below write in detail the meanings
of any FOUR underlined words: (4 x 2 =8)
SR i A TPl o el

Translation:

O believers! Do not betray Allah and His Prophet. Also do not misappropriate knowingly your

trusts you have been entrusted with.

' - 4 - - - L o v
A R 5a R T KIS M 3 B VA5 S A LA G0 @ (ii)

Translation:

O believers! Fear Allah and say the words straight and right. Aliah will set your acts right

and forgive your sins.

c. Write short answers to any SIX of the following questions: (6 x2=12)
i) Which event does the passage refer to?s 45 i 2y 50 3
i) Describe the factors mentioned in Surah Anfal that led pharaoh and his people to destruction.
i) What are the instructions of Allah in Surah Anfal with regard to preparations for war?

iv) What should be the response of believers to the decisions of Ailah and His Prophet *3%*"?

v) State the points on which Allah asked Muhammad to take oath of allegiance from migrating
Muslim women.

{vi) When does bribe fiourish in a societ+?

(vii) Write the obligatory steps of ghusl.

Q.3 Translate and explain any TWO of the given Ahadith and describe how they are
related to our practical life: (2x5=10)
g “é oo Tl }\ A 4
LS A el e e (i)
o R “ P - e o Ty 7w - - e T T
403 el tel A L el H 8 s et s (ii)

SECTION - C (Marks 22)

Note: Attempt any TWO questions. All questions carry equal marks. (2 x 11 =22}

Q.4 a. Write a note on the distinct characteristics of the Holy Quran. (06)

b. Write the translation of aya in which the Holy Quran has warned in harsh words, the persons who do

not pay zakat. (05)

Q.5  Write down the rights of parents and children in detail. (11)
Q.8  Wirite note on the following:

a. Excellence of Knowledge (05)

b. Meaning and sense of Jihad (06)
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Roll No. Answer Sheet No. 27

Sig. of Candidate. Sig. of Invigilator.
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MATHEMATICS SSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes (Science Group)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itseif.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct optioni.e. A/B/C/D. Each part carries one mark.

6
=0then x=7
X

WA
3

A ) B. -6 C. 9 D. -9

(it) (4)3 with radical sign is:
A NE B. & c. ¢ D.
(i) If log, y = xthen:

A at =y B. a’ =x C. =y D. Vo=x
(iv) The degree of the polynomial x* y* +3xy + ' is:

A 2 B. 3 C. 1 D. 4
(v) Find ‘m'sothat x* +dx + mis a complete square:

A g B. -8 C. 4 D —4
(vi) HCFof x> -5x+6and x* —x—6is:

A x-3 B. x+2 C. x-—-2 D x+3
(viiy LCMofad’+biand o' —b'is:

A a’ +b B. a’ - C. at b D. a-b
(viiiy  If xis no larger than 10 then:

A x=10 B. x =10 C. x>10 D. x<10
(ix) Paint (--3,-3)lies in guadrant:

A !/ B. i C. ar D. v
(x) Mid point of the peoints (2,-2) and (~2,2) is:

A (2,2) B. (—2.-2) C. (0,0) D. (L
{xi) The Altitudes of an isosceles triangle are congruent.

A Two B. Three C. Four D. None of these
(xii) Distance between the points (—-1,3)and (3,-2)is:

A Jai B. —J41 c. 4l D, 41

i [0 o] _

{xiii) is called matrix.

0 0] —

A Unit B. Scalar C. Zero D. Singuiar
(xiv)  If ¥ =—Ithen i=?

A. 1 B. -1 c. o+l D. J=1
{xv) If two medians of a triangle are congruent. Then triangle will be:

A. isosceles B. right angled C. equilateral D. acute angled

For Examiner’s use only:

Total Marks: 15

Marks Obtained:
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Time allowed: 2:40 Hours

MATHEMATICS SSC-I
(Science Group)

25

Total Marks Sections B and C: 60

NOTE: Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Log table and graph paper wiil be provided on demand.

SECTION - B (Marks 36)

Q.2 Attempt any TWELVE parts. All parts carry equal marks.

(i)

(i)

(vi)

(i)

{x1)
(xii)
(xii)
(x1v)
{xv)
(xvi)
(xvii)

(xwiil)

Note:

302 2 4] , o
Let A= L LB = s s then verify that (4B) = B'A

3x-2y=-6

Solve by using Cramer’s rule
yusing Sx-2p=—-10

(216)§ x (25)5

Simplify -
(0.04) 2

If 7 =2+3iand W =5—4ishowthat ZW =Z W

~2
Find the value of ' x'if log,, x= =Y

(438)’V/0.056

Use log table to find the value of "
(388)

If 5Sx--6y =13 and xy =6 then find the value of 125x* - 216y’

Ja' +2+Va* -2

Simplify
v

/

2 2
a'+2—-\/a -2

Factorize 25x* —10x +1-36z°

(12x3=36)

For what value of * m is the polynomial p(x)=4x" —7x* +6x —3m exactly divisible by x -+ 2

Express the decimal 0.23in the form of £ . where p.gezand g #9
q

Find the L.C.M of 4(x* =1),6(x" —x* - x + 1) by factorization.
y

FE, 2_ 2T Teiy v—u
Simp]ify[h2+}zl v j|:|;f('-_1)t }’:]

pl
X -y Xt Vv X—y X+Yy

Using division method find the square root of 9x* —6x’ +7x* —2x +1

Solve each equation and check for extraneous solution, if any i/i: =21 -28
Solve for v [3+2x|=l6x -7

Salve 3(2x+1)-2(2x +5) < 5(3x - 2)

Salve the equations graphically x=3yand 2x-3y=-6

SECTION - C (Marks 24)

Attempt any THREE questions. All questions carry equal marks.

(3 x 8 = 24)

Q.3  Show that the points A(—6,-5), B(5,-5),C(5,~8)yand D(-6,~-8) are vertices of a rectangle. Find the lengths of its
diagonals. Are they equal?

Q.4  Iftwo angles of triangle are unequal in measure, the side opposite to the greater angle is longer than the side
oppaesite to the smaller angle.

Q.5 Iftwo angles of a friangle are congruent, then the sides opposite to them are also congruent.

€1.6 The bisectors of the angles of a triangle are concurrent.

Q.7  Construct APOR, Draw their altitudes and show that they are concurrent.
mPQ=45cm . mOR=39cm . mZR =45

BlatetfabecArisd Annual — 1SA 1609 (L) ~——
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Answer Sheet No.
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MATHEMATICS SSC-
SECTION — A (Marks 15)

Time allowed: 20 Minutes

(Science Group)

NOTE:

Section-A is compulsory. All parts of this section are to be answered on the question paper itself.

it should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.

(vi)

(vii)

(viii)

(ix)

{xiv)

(xv)

If Z=-1-ithen Z="

A. 11 B. —1+i C.
log, axlog, b can be written as:
A log, ¢ B. log, ¢ C.
(@+bXa* -ab+b*)=7
A a + b B. a b C.
Factors of 5x* —17xy — 12y are:
A. {(x+4y),(5x+3y) B.
C. (x—=4y),(5x+3y) D.
An irrational radical with rational radicand is called afan:
A. Rational number B.
C. Surd D.
HC.Fof p'g-pg’and p’q* - pq’is:
A pa(p’ —q) B peip-q)  C
]
The square root of x* +—+2is:
X
3 1
A i[x+l | B. i(x2+‘—7) C.
X/ X"
LCMxH.CF=?
A poxgo B Y c
g(x)
. 3
x= is a solution of inequality -2 < x < o
A -5 B. 3 C.

Which order pair satisfy the equation y = 2x

A (2,1

B. (1) C.

A triangle having all sides equal in length is called:

A. Isosceles

B. Scalene C.

The median of triangle cut each other in the ratio:

A 4:1 B. 3:1 C.
Distance between the points (0,2)and (-3,0) is:
A 5 B. 13 C.
2 1]
Order of transpose of | 0 | |is?
3 2
A 3-by-2 B. 2—hy-3 C.

Characteristics of 1662.4 is?

A 1

For Examiner’s use only:

Badefatbeardidsd Annual

B.

£
o

1+ D.
log, a D.
(a+b) D.

(x—4y),(5x-3y)
(5x —4y)(x +3p),

Irrational number
Both A and B

py(p-9) D

1) o

plx)+g{x) D.

0 D.
(2,2) D.
Equilateral D.
2:1 D.
13 D.
1-by-3 D.
4 D.

Total Marks:

Marks Obtained:

—— 1SA 1609 (ON) —

0+1

log, b

(a-b)

pa(p’ —q’)

i[xz ~——1,—J
. x-

p(x)—q(x)

R |

(1,2)

None of these

1:1

3—hy-1

BE
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] 7-
E MATHEMATICS SSC-I
N .
Nk (Science Group)
Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any twelve parts from Section ‘B’ and any three questions from Sect_ion ‘c’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Log table and graph paper will be provided on demand.

SECTION — B (Marks 36)

Q.2  Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)
3 ]
i if A=j then prove 447 =1
(1) Lz 2} p
) . . 3x—d4y=4
{ii) Solve by using matrix inverse method
x+2y=8

e 2f 2m \\I 2 \
iy simply | o W e J[ o J

e And Na

i

(ivy Simplify and write your answer in the form of  a+b7,

(2+300-§)
(V) Simplify log, 3% log, 8

(vi) If log2=0.3010,log3 =0.4771,log5 = 0.6990 then find the value of log30

(viij  Find the product using formula (2x? = 1}(2x% + 1)(4x" + 2x" + I)(dx* = 2x% + 1)

, 1 f o
{viii) If x =2 ++/3 then find the value of x——and Lx f—W

x x)
(x)  Factorize x’ +48x—12x" — 64
(x) If x ~1is a factor of polynomial x° —kx” +11x -6 then find the value of & .
(x) Factorize the cubic polynomiai 3x° —x* —=12x+4 by Factor Theorem.

(xi)  Find H.C.F of6x’ —7x° —27x+8and 6x" +17x* +9x—4 by division method.

Pox-6 x'+2x-24
. +

X
{xiii Simplif e
) Py x -9 x —x—12

(xiv)  Using division method Find the square root of 4x* +12x" +x* —12x+4
{(xv) Solve each equation and check for extraneous solution if any Y2xr—4-2=0
(xvi)y  Solve for x x+2|-3=5"|x+2i

(xvii)  Salve -3« i—FZ{ <]

>

(xviii)  Salve the equations graphically 2x+v—-1=0and x=-y

SECTION — C (Marks 24)

Note: Attempt any THREE questions. All questions carry equal marks. (3 x8=24)

Q.3 Let 0(0,0),4(3,0)and B(3.5) be three points in the plane. if A, is the midpoint of ABand M, of OB. Then

show that [A\ M, = 15!0/1\

Q.4  The right bisectors of the sides of triangle are concurrent.
Q.5  The sum of the length of any two sides of triangle is greater than the length of the third side.

Q.6 Inthe correspondence of two triangles if three sides of a triangle are congruent to the corresponding three sides
of the other, then the two triangles are congruent.

Q.7  Construct AYYZ m¥Z =4.lem . m/Y =60° | msX =75
Draw their medians and show that they are concurrent.
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i Answer Sheet No. } (

Sig. of Invigilator.

...........................................................................................................................................................................

MATHEMATICS SSC-I
SECTION — A (Marks 15)

(OLd Syllabus)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct optioni.e. A/ B/ C/ D. Each part carries one mark.

L,
u
|
|
]
|
|
.
|
B (i If the number of elements in set A and B are ‘n’, then how many binary relations are possibte in (A x B)
A. 2" B. 2" c n* D. 22
a (ii) If A and B are subsets of each other then A and B are called sets.
e A Equal B. Proper C. Overlapping D. Disjoint
1 I
(i) If x+—=28 then (x+—)" =7
" p )
A 80 B. 64 C. 66 D. 62
- (iv) Which one is a pair of conjugate binomial surds?
- A (2-B)E-B) 8 (V2+3)(42-43)
a c. (V2+3)(2-43) p.  (V2+3)(2+43)
(v) I log,32=5 then x=
a A 2 B. 3 c. 1 D. 2
2
. (vi) If x = Antilog (2.5321) then logx =
a A 340.5 B. 0.5321 C. 2.56321 D. 2.3405
{vil) Product 103x97 is obtained by using:
a8 A (a+b)* B. (a+b)a-b) C. (a—b)* D. None of these
a (vii) H.C.Fof 5)52)/2 , 20)63))3 and 25x4y2 is:
A Sxy B. Sny2 C. 5x2y D. 5xy2
L (ix) Factorization of (1 +4ab —4a’ ~b2) is:
[ ] A (1-2a+b)1+2a—-b) B. (142a+b)1-2a+b)
- C. (1-2a+b)(1+2a+b5) D. None of these
®  Determnantof|> .
X eterminant o is:
] 3 Y
) A -8 B. 0 C. 9 D. None of these
3
(xi) Product of &Il 2=
o | &l 2]
3 3 6
- A 2] B. c. o [s]
2 I 2
o (xii) If a transversal cuts two parallel lines then how many pairs of corresponding angles are formed?
o A 4 B. 3 C. 2 D. 6
(xiiy  Through one point lines can pass.
u A Infinite B. One C. Two D. Three
30
(xiv)  Matrix is called matrix.
a 03
A Diagonal B. Scalar C. Row D. Both A and B
. (xv) The altitudes of an obtuse-angled triangle intersect each other the triangle.
. A Inside B. On C. Outside D. None of these
] For Examiner’s use only:
. Total Marks: | 15
Marks Obtained: |
[ L
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MATHEMATICS SSC-I 12

(Old Syllabus)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60
NOTE: Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Log Table will be provided on demand.

SECTION — B (Marks 36)

Q.2 Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)
(i If A={1,2,3} and B={2,3,4} then find the binary relation in (Ax B)when

R={(x.y)lxe AAnye Bry>x}

(i) Write the following sets in tabular form:

Az{x‘xep A x <23}

B={xlxrez nx?=16}
C={3x
iy FU=N, A=@ , B=P thenverify (AU B) =A° "B

x € w}

—Ja=2
(v)  Simplify: a+2-vd
Ja+2+~a-2
» p+q p g+r .
(v)  Simplify: [Y—J [x—rJ 23w x?)
x7 x

3

t2

{vi) Find the number of digits in
(8.97)% x (1.059)°
(57.7)

What should be added or subtracted to (9ab* ~12abc) to make it a perfect square?

{vii) Evaluate with the help of logarithm.

(ix) Find the value of (1 005’)2 by using the suitable formula.
(x) Find the remainder (by using remainder theorem) when (x4 —2x% +3x+3) is divided by (x—3)
(x0) Factorize: 1+ 2ab— (ar2 + bz)
(xii) Factorize: 4x> - 21x—-10
(xiiy  Simplify: (2”)’ —1] - [h al ]
K X+ B4 X+ y

(xiv)  Find the square root: x(x +2)(x+4)}(x +6)+16

(xv) Product of two expressions is (x4 +3%° —12x° —20x + 48) and their L.C.M is (x3 +5x7—2x-24).
Find H.C.F.

(xvi)  Write the equations 2x+ky =7 and 3x—9y =9 in matrix form. Also find the value of 'k’ if the
matrix of the co-efficient is singular.

(xvii)  Solve: (with the help of matrices) Sx =13-2y ; Sy=17-2x

2
o (216 (25)"
(xviii)  Simplify: —
(0.04) 2
SECTION — C (Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks. (3x8=24)

Q.3 Prove that if transversal intersects two coplanar lines such that the pair of alternate angles are
congruent, then the lines are paraliel.
Q.4 Provethatin a parallelogram:
a. Opposite sides are congruent
b. Opposite angles are congruent
c. Both of the diagonals bisect each other
Q.5 Prove that if in any correspondence of two triangles, two angles and one side of one triangle are congruent

to the corresponding two angles and one side of the other triangle, then the triangies are congruent.

Q.6 Construct a triangle ABC when mAB = 5cm mCA=56em , mZB=105°
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Roll No. l \ 1 } Answer Sheet No. 17

Sig. of Candidate. Sig. of Invigilator.

...........................................................................................................................................................................

PHYSICS SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes (Revised Syllabus)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.
(i) 275.00 has significant digits.
A. 3 B. 2 C. 4 D. 5
(i) Which is not a vector quantity?
A momentum B. pressure C. weight D. torque

iii) If ‘m’ is the mass of an object then its weight on the surface of the Earth will be:

A mg B. 2mg C. ;mg D. None of these

(iv) Torque depends on:
A Force B. momentarm  C. acceleration D. Both A and B

(v} The acceleration produced by a force of 20N in a body of mass 8kg will be:

A 0.4ms™* B. 2.5ms C. 0.4ms™" D. 2.5ms™

(vi) The value of G is:

C. 10ms™ D. 6.4%10° Nm*kg ™
(vii) lhp=2?

A 6741 B. 776 W C. 476 W D. 746W
(vii)  One pascal is equal to:

A | N’ B. 107 Nm™? C. | N D. 0.5Nm™
(ix) Convert 50 °C temperature into Fahrenheit scale.

A 122°F B. 90° K C. 120°F D. 124°F
(x) Metals are good conductors of heat due to the:
A big size of their molecules B. small size of their molecules
C. rapid vibrations of their atoms D, free election
(xi) A physical balance measures: '
A volume B. weight C. mass D. density

(i) The potential energy of a body of mass 10kg at a height ' /" is joules.

A 10k B. 100k C. 10004 D. None of these

For Examiner’s use only:

Total Marks: l 12
Marks Obtained:
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/
PHYSICS SSC-I )

(Revised Syllabus)

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)

Q.2  Answer any ELEVEN parts. The answer fo each part should not exceed three to four lines. (11 x3=33)

(i)
i)

Note:

Q.3

o

What is meant by Mechanics and Geophysics?

An object starts from rest. Write down the changed equations for the motion of the object.
Define centripetal force and aiso give its formula.

Differentiate between ¢ and G .

How much time is required to change 22Ny momentum by a force of 20N 7

Why is the base of a vehicle made wide? .

Briefly describe that the Law of gravitation is consistent with Newton’s third law of motion.

Name and define the unit of power.

State Pascal's Law.

Calculate the coefficient of linear thermal expansion of aluminium if the value of its coefficient of volume
expansionis 7.2x107° K"

A cup of hot tea becomes cold after sometime. Why?

Draw a temperature-time graph showing the change of state of ice into water and steam.
What is an Atwood machine?
Define centre of gravity.

Define Stress. Also give its formula and unit.

SECTION - C (Marks 20)
Attempt any TWO questions. All questions carry equal marks. (2x10=20)

State and explain the Law of Conservation of momentum. (01+04)

Graphically prove that 2as = vf? —vi* (05)

Define equilibrium and explain the first condition for equilibrium. (01+03)

A man has pulled a cart through 35m applying a force of 300N . Find the work done by the man. (03)
Describe Einstein's Mass-Energy equation. {03)

Describe the scales of temperature. Give Formulas for the conversion of temperature from one
scale to the other, : (03+03)

The acceleration due to gravity on the surface of the moon is 1.62ms > . The radius of the moon
i81740km . Find the mass of the moon. (04)
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\ Roll No 1 E ‘ <| Answer Sheet No. '
7} Sig. of Candidate. Sig. of Invigilator.
PHYSICS SSC-I
SECTION — A (Marks 12)
Time allowed: 20 Minutes (Revised Syllabus)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

() Which one of the following numbers is in the standard form?
A, 0.07843x10°  B. 3.0079%10°  C. 47679.0 D. None of these
(i) The distance-time graph for an object moving with variable speed is a:
A straight line paraliel to vertical axis B. straight line parallel to time axis
C. straight line passing through origin D. curved line
(i) Indicate the unit of momentum:
A kgms™ B. Ns! C. Ns D. Nm
(iv) A force of 10N is acting along x-axis. Its vertical component will be:
A, Zero B. 10N C 05N D. 20N
(V) The orbital speed of a low orbit satellite is:
A 8kmb B 8ms”! C. 8000ms D. 800ms ™'
{wit) Joule is equal to:
A watt x metre  B. watt x second  C. newton x metre D. Both b and ¢
(vi)  lfthe mass of 200cm’ of stone is 500g then its density will be:
A 2.50gem™ B. 0.4kgm™ C. 2.5kgem™ D. 25gm™
{wviil) Which one of the following options is incorrect?
A -273°C=0K B. 0°C=0°F C. T(K)y=C+273D. 100°C =212°"F
(ix) In solids, heat is transferred by:
A, radiation B. conduction 103 convection D. absorption
(x) The ieast count of vernier callipers is:
A 0.01lcm B. 0.01mm C. 0.1em D. Lmm
{xi) Inertia depends upon:
A force B. velocity C. mass D. None of these
(xii) Hydrometer is used to measure the of a fiuid.
A pressure B. volume C. weight D. density

For Examiner’'s use only:

Total Marks: le__s
Marks Obtained: E]
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PHYSICS SSC-I
(Revised Syllabus)
Time allowed: 2:40 Hours Total Marks Sections Band C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)
Q.2 Answer any ELEVEN parts. The answer to each part should not exceed three to four lines, (11 x3=233)

(i) What is meant by derived units? Give two examples.

(i) A car is moving with velocity ‘v'. On applying brakes it comes to rest. Write down the changed equations
of motion for the car,

(iii) Define Newton's Second Law of Motion.

(iv) Describe the important features of Kinetic Molecular Model of matter.

(V) A mechanic tightens a nut using a 15¢m long spanner by exerting a force of 200N .Determine the torgue

that has tightened the nut.
vi) Define gravitational field strength of the Earth. What is its value near the surface of the Earth?

vit) The efficiency of a working system is always less than100%  Why?

(
(
{viii) How does water cool down the automobile engine?
(ix) Define Archimedes Principle.

(

X) Calculate the power of a pump which can lift 200Kg of water through a height of 6m in 10 seconds.

Xi) Describe the factors on which the rate of heat radiations depends.

i) Name and define the unit of work.

{
(
(xii) Define Translatory motion and name its different types.
(xiv)  Why is hot food packed in Styrofoam boxes?

{

XV) Differentiate between Mass and Weight.

SECTION - C {Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2 x10 = 20)
Q.3 a Define resultant force. Describe Head To Taii Rule to find out resultant vector of different vectors.
(01+04)
b. A car has a velocity of 10ms™' It accelerates at 0.2ms ™ for half minute. Find the distance travelled
during this time and the final velocity of the car. (05)
Q.4 a Briefly describe Hooke's Law. What is Young's Modulus? How is it determined? Also, give its unit.
(02+01+02+01)
b. Find the mass of the Earth. {04)
Q.5 a Define and explain Specific Heat Capacity. Also, give its unit. (04+01)
b. A picture frame is hanging by two vertical strings. The tensions in the strings are 3.8N and 4.4\
Find the weight of the picture frame. {05)
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Answer Sheet No. 2|

Sig. of Invigilator.
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PHYSICS SSC-

SECTION — A (Marks 12)
Time allowed: 20 Minutes (Old Syllabus)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i) in which Surah and verse Allah says “Hast thou not seen how Allah hath sent down water from the
sky"?
A Al-Zumar 21 B. Al Bagra 163 C. Al Bagra 164 D. None of these
(i) A second is the duration in which the Cesium-133 atom completes numbers of vibrations.
A, 9192631770 B. 91929311770 C. 9192911770 D. 9192631770
(i) Motion in which every particle of a body has exactly the same motion is called
A Rotatory motion B. Vibratory motion
C. Transiatory motion D. None of these
(iv) The mass of a body is a measure of its
A Inertia B. Weight C. Rest D. Acceleration
(v) The X and Y axis are also calied .
A, Plane B. Graph
C. Frame of reference D. None of these

(i) The factor affecting torque is/are

A F B. r C. Fandr D. Nane of these
{vii) The velocity of an object moving with uniform speed in a circle is changing

A. Abruptly B. Irreguiarly C Slowly D. Constantly
(vii) Megaz= .

A 10° B 10° c. 10% p.  10°

(ix) M.A of inclined plane =

27l { R b
A e B. - C. — D. —
h h ¥ y
\ , F .
(x) Pressure acting on a body is P =— . Pressure can be increased by
A Increasing area 4 B. Decreasing area
C. Decreasing force D. None of these
(xi) Like linear expansion, volume expansion alsoc depends on .
A The original volume B. The change of temperature
C. Nature of material D. All of these bg
(i) In the given figure which state of equilibrium has been shown? é?
A Neutral B. Stable C. Unstable D. None of these
For Examiner’s use only:
Total Marks: 12
Marks Obtained:
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Time allowed: 2:40 Hours

22

PHYSICS SSC-I
(Old Syllabus)

Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section 'B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers

neatly and legibly.

SECTION — B (Marks 33)

Q.2 Answer any ELEVEN parts. The answer to each part should note exceed three to four lines.(11 x3=33)
(i Describe briefly absolute zero.
(i) State the Pascal's Law.
(iit) Define Hook's law.
(iv) In the figure given below write the scientific name of each machine. Also write their M.A formulae.
Rl
£
A
(V) In the figures given below which car is more stable during racing.r Also give the reason.
—— TR T
(vi) What are the factors upon which wark depends?
{vii) What is the function of centrifuge?
(viij  State the two conditions of equilibrium.
(ix) What are the three ratios of trigonometry?
(x) What is mentioned by Newton about artificial satellite in his famous book Principia Mathematicia?
(xi) Define Position.
(i) What are the Prefixes?
(xii)  Define electromagnetism.
(xiv)  Whatis the difference between Dynamics and Kinematics?
(xv)  State Newton's first law of motion.
SECTION — C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2 x10 = 20)
Q3 a What is the number of base units in system international? Write their names and symbols. (3)
b A cyclist moves his cycle from rest with an acceleration of 1ms 2 for 20 second, then he moves with
uniform velocity for one minute. Finally he applies brakes and stops with a negative acceleration of
Ims % . Determine its maximum velocity in kilometre per hour. Also determine total distance
covered by him. 3)
c Define and explain Friction and Limiting friction. Also describe advantages and disadvantages 4)
of friction. (3)
Q4 a What is the difference between scalar and vector quantities? Explain it with examples. 3)
b In the figure given below the centre of gravity of the hockey stick is at 60 cm from the end A.
To balance it at 40 ¢cm from “A”, a weight of 5N is hung at A.
Find the weight of hockey stick. (3)
Be::]’:f__, RS A
c. Derive the formula for the orbital speed of artificial satellite and explain how the satellite can be
revolved around the earth with maximum speed? (4
Q.5 a Explain the law of conservation of energy. (4)
1
b Prove that § = vt + 5 at® (3)
c One kilogram of ice is dropped in 9 kg of water at50°C . What will be its final temperature while
the latent specific heat of fusion of ice is 336000 qug_1 : (3)
BBy 18 Kraiual 98
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